TAF Disposable Fast Drill

Note: the U series is ideal for machining stainless steel.
. Dbx | 2 pbx3 | = pbxa
Model N —_ mface
TAF

12.0 [556100]S1200F20 1100 [556300]M1200F20 1320 [556500]L1200F20 1584

TAF 12.5 [556102 | S1250F20 29 1100 | 556302 |M1250F20 41 1320 | 556502 |L1250F20 55 1584
TAF GCMT 20) 13.0 [556104|S1300F20 | 31 | 1100 |556304|M1300F20| 44 | 1320 |556504|L1300F20 | 60 | 1584
TAF 040204-U.. 13.5 [556106|S1350F20 | 31 | 1100 |556306 |M1350F20| 44 | 1320 |556506|L1350F20 | 60 | 1584
TAF PT |14.0 |556108|51400F20 | 33 | 1100 |556308|M1400F20| 47 | 1320 |556508|L1400F20 | 60 | 1584
TAF M2.0x4 | 1/8 | 14.5 [556110]51450F20 | 33 | 1100 |556310|M1450F20| 47 | 1320 |556510|L1450F20 | 60 | 1584
TAF T6 15.0 [556112[S1500F20 | 35 | 900 |556312|M1500F20| 50 | 1080 [556512|L1500F20 | 70 | 1296
TAF 15.5 [556114[S1550F20 | 35 | 900 |556314|M1550F20| 50 | 1080 |556514|L1550F20 | 70 | 1296
TAF GPMT 16.0 [556116|S1600F25 | 38 | 900 |556316|M1600F25| 54 | 1080 |556516|L1600F25 | 75 | 1296
TAF 060204-U.. 16.5 | 556118|S1650F25 | 38 | 900 |556318|M1650F25] 54 | 1080 |556518|L1650F25 | 75 | 1296
TAF 17.0 [556120[S1700F25 | 41 | 900 |556320|M1700F25| 58 | 1080 |556520|L1700F25 | 75 | 1296
TAF 17.5 [556122[S1750F25 | 41 | 900 |556322|M1750F25| 58 | 1080 [556522|L1750F25 | 75 | 1296
TAF 18.0 [556124[51800F25 | 43 | 900 |556324|M1800F25| 61 | 1080 |556524|L1800F25 | 79 | 1296
TAF 18.5 [556126|51850F25 | 43 | 900 |556326|M1850F25| 61 | 1080 |556526|L1850F25 | 79 | 1296
TAF 19.0 |556128|S1900F25 | 46 | 900 [556328|M1900F25| 65 | 1080 |556528[L1900F25 | 84 | 1296
TAF 19.5 [556130[S1950F25 | 46 | 900 |556330|M1950F25| 65 | 1080 |556530|L1950F25 | 84 | 1296
TAF GPMT | M2.5x6 |(25) | 20.0 [556132| S2000F25 | 48 | 900 [556332|M2000F25| 68 | 1080 |556532|L2000F25 | 88 | 1296
TAF 070204-U.| T8 pT | 20.5 |556134|S2050F25 | 48 | 1000 |556334|M2050F25| 68 | 1200 |556534|L2050F25 | 88 | 1440
TAF 21.0 [556136/52100F25 | 50 | 1000 |556336|M2100F25| 71 | 1200 [556536|L2100F25 | 92 | 1440
TAF 1/8 [ 215 [556138] 52150F25 | 50 | 1000 |556338|M2150F25| 71 | 1200 |556538|L2150F25 | 92 | 1440
TAF 22.0 |556140[52200F25 | 53 | 1000 |556340|M2200F25| 75 | 1200 |556540|L2200F25 | 97 | 1440
TAF 22.5 |556142[52250F25 | 53 | 1000 |556342|M2250F25| 75 | 1200 |556542|L2250F25 | 97 | 1440
TAF 23.0 [556144[52300F25 | 55 | 1000 |556344|M2300F25| 78 | 1200 [556544|L2300F25 | 101 | 1440
TAF 23.5 |556146|S2350F25 | 55 | 1000 |556346|M2350F25| 78 | 1200 |556546|L2350F25 | 101 | 1440
TAF 24.0 |556148|52400F25 | 58 | 1000 |556348|M2400F25| 82 | 1200 |556548|L2400F25 | 106 | 1440
TAF 24.5 |556150|52450F25 | 58 | 1000 |556350|M2450F25| 82 | 1200 |556550|L2450F25 | 106 | 1440
TAF GPMT | M3.0x8 25.0 [556152[52500F32 | 60 | 1000 |556352|M2500F32| 85 | 1200 |556552|L2500F32 | 110 | 1440
TAF 090304-U.| T8 25.5 |556154[52550F32 | 60 | 1000 |556354|M2550F32| 85 | 1200 [556554|L2550F32 | 110 | 1440
TAF 26.0 [556156|S2600F32 | 62 | 1200 |556356|M2600F32| 88 | 1440 |556556|L2600F32 | 114 | 1728
TAF 26.5 |556158|S2650F32 | 62 | 1200 |556358|M2650F32| 88 | 1440 |556558|L2650F32 | 114 | 1728
TAF (32) | 27.0 | 556160]52700F32 | 65 | 1200 |556360|M2700F32] 92 | 1440 |556560|L2700F32 | 119 | 1728
TAF PT |27.5 |556162|S2750F32 | 65 | 1200 |556362|M2750F32| 92 | 1440 |556562|L2750F32 | 119 | 1728
TAF 1/8 | 28.0]556164|52800F32 | 67 | 1200 |556364|M2800F32] 95 | 1440 |556564|L2800F32 | 123 | 1728
TAF 28.5 |556166|S2850F32 | 67 | 1200 |556366 |M2850F32| 95 | 1440 |556566|L2850F32 | 123 | 1728
TAF 29.0 [556168[52900F32 | 70 | 1200 |556368|M2900F32| 99 | 1440 [556568|L2900F32 | 128 | 1728
TAF 29.5 |556170|S2950F32 | 70 | 1200 |556370|M2950F32| 99 | 1440 |556570|L2950F32 | 128 | 1728
TAF GPMT | M4.0x9 30.0 [556172[53000F40 | 82 | 1200 |556372|M3000F40| 102 | 1440 |556572|L3000F40 | 132 | 1728
TAF 117308-U.| T15 31.0 |556174|S3100F40 | 74 | 1300 |556374|M3100F40| 105 | 1560 |556574|L3100F40 | 136 | 1872
_ TAF | 32.0 |556176|S3200F40 | 77 | 1300 |556376 |M3200F40| 109 | 1560 |556576|L3200F40 | 141 | 1872
TAF 33.0 |556178|S3300F40 | 79 | 1300 |556378|M3300F40| 112 | 1560 |556578|L3300F40 | 145 | 1872
TAF 34.0 |556180|53400F40 | 82 | 1300 |556380|M3400F40| 116 | 1560 |556580|L3400F40 | 150 | 1872
TAF 35.0 |556182|53500F40 | 84 | 1300 [556382|M3500F40| 119 | 1560 |556582|L3500F40 | 150 | 1872
TAF 36.0 [556184|S3600F40 | 86 | 1500 [556384|M3600F40| 122 | 1800 |556584|L3600F40 | 154 | 2160
TAF 37.0 |556186/53700F40 | 89 | 1500 |556386|M3700F40| 126 | 1800 |556586|L3700F40 | 158 | 2160
TAF 38.0 |556188|53800F40 | 91 | 1500 |556388|M3800F40| 129 | 1800 |556588|L3800F40 | 162 | 2160
TAF 39.0 [556190[53900F40 | 94 | 1500 |556390 |M3900F40| 133 | 1800 [556590|L3900F40 | 166 | 2160
TAF 40.0 556192 | S4000F40 | 96 | 1500 |556392|M4000F40| 136 | 1800 [556592|L4000F40 | 170 | 2160
TAF GPMT | M5.5x12 41.0 [556194|S4100F40 | 98 | 1800 |556394|M4100F40| 139 | 2160 |556594|L4100F40 | 174 | 2592
TAF 140408-U 120 |(40) 42.0 [556196|S4200F40 | 101 | 1800 556396 |M4200F40| 143 | 2160 |556596 |L4200F40 | 178 | 2592
TAF 43.0 [556198|S4300F40 | 103 | 1800 556398 |M4300F40| 146 | 2160 [556598 |L4300F40 | 182 | 2592
TAF PT 44,0 [556200| 54400F40 | 106 | 1800 | 556400 M4400F40] 150 | 2160 |556600|L4400F40 | 186 | 2592
TAF 1/4 | 45.0 | 556202] 54500F40 | 108 | 1800 |556402|M4500F40| 153 | 2160 | 556602 |L4500F40 | 190 | 2592
TAF 46.0 | 556204 | S4600F40 | 110 | 2000 |556404 | M4600F40| 156 | 2400 |556604 |L4600F40 | 194 | 2880
TAF 47.0 |556206 | S4700F40 | 113 | 2000 |556406 | M4700F40| 160 | 2400 [556606|L4700F40 | 198 | 2880
TAF 48.0 | 556208 | S4800F40 | 115 | 2000 |556408 | M4800F40| 163 | 2400 |556608 |L4800F40 | 202 | 2880
TAF 49.0 |556210|S4900F40 | 118 | 2000 |556410 M4900F40| 167 | 2400 |556610|L4900F40 | 206 | 2880
TAF 50.0 |556212|S5000F40 | 120 | 2000 | 556412 |M5000F40| 170 | 2400 |556612|L5000F40 | 210 | 2880
TAF 51.0 | 556214/ S5100F40 | 122 | 2500 | 556414 |M5100F40| 173 | 3000 |556614|L5100F40 | 214 | 3600
TAF GPMT | M3.0x8 52.0 | 556216|S5200F40 | 125 | 2500 | 556416 |M5200F40| 177 | 3000 |556616|L5200F40 | 218 | 3600
TAF 090304-U.] T8 53.0 | 556218|55300F40 | 127 | 2500 |556418 |M5300F40| 180 | 3000 |556618|L5300F40 | 222 | 3600
TAF 54.0 | 556220| S5400F40 | 128 | 2500 |556420 |[M5400F40| 182 | 3000 |556620|L5400F40 | 226 | 3600
TAF 55.0 | 556222 | S5500F40 | 130 | 3000 | 556422 |M5500F40| 185 | 3600 |556622|L5500F40 | 230 | 4320
TAF 56.0 | 556224 | S5600F40 | 132 | 3000 | 556424 |M5600F40| 188 | 3600 |556624|L5600F40 | 234 | 4320

KO3 WEB:http://www.mzg.tw


http://www.mzg.tw

WD Disposable Fast Drill

SUMITOMO

ModelNo | Insert [ ox2 [ bx3 [ Dx4 || Dx5 |

aeguTlec

Abandon Type Drill

WDX 130 13.0] D2520 4066 | D3S20 |42.0] 4275 | D4S20 |55 | 4920 | D5520 | 68.0] 5352
WDX 135 13.5] D2520 30 4066 | D3S20 | 43.5] 4275 | D4s20 |57 | 4920 | D5S20 | 70.5] 5352
WDX 140 WDXT | M1.6x4 140| D2520 |31 | 4066 | D3S20 |45.0| 4275 | D4S20 |59 | 4920 | D5520 | 73.0| 5352
WDX 145 042004 | T6 145| D2520 |32 | 4066 | D3S20 | 465| 4275 | D4S20 |61 | 4920 | D5S20 | 75.5] 5352
WDX 150 50 | 150 D2520 |33 | 4066 | D3S20 |48.0| 4275 | D4S20 | 63 | 4920 | D5S20 | 78.0] 5352
WDX 155 155| D2520 |34 | 4160 | D3S20 |49.5| 4379 | D4S20 |65 | 5039 | D5520 |80.5| 5471
WDX 160 160| D2520 |35 | 4160 | D3S20 |51.0| 4379 | D4S20 |67 | 5039 | D5S20 | 83.0| 5471
WDX 165 WDXT | M2.0x4 16.5] D2520 |36 | 4160 | D3520 | 52.5| 4379 | D4520 |69 | 5039 | D5520 | 85.5] 5471
WDX 170 052504 | T6 17.0] D2520 |37 | 4160 | D3s20 | 54.0] 4379 | D4s20 |71 | 5039 | D5520 | 88.0] 5471
WDX 175 175] D2525 |38 | 4361 | D3S25 | 555] 4588 | D4S25 |73 | 5278 | D5S25 | 90.5] 5736
WDX 180 180| D2525 |39 | 4361 | D3S25 | 57.0| 4588 | D4S25 |75 | 5278 | D5525 | 93.0] 5736
WDX 185 185] D2525 |40 | 4461 | D3S25 |585] 4689 | D4S25 |77 | 5397 | D5525 | 95.5] 5867
WDX 190 10.0] D2525 |41 | 4461 | D3S25 | 60.0] 4689 | D4S25 |79 | 5397 | D5S25 | 98.0] 5867
WDX 195 105] D2525 |42 | 4461 | D3S25 | 61.5] 4689 | D4s25 |81 | 5397 | D5525 [100.5) 5867
WDX 200 WDXT | M2.2x6 20.0] D2525 |43 | 4461 | D3S25 | 63.0] 4689 | D4525 |83 | 5397 | D5525 [103.0 5867
WDX 205 063006 | 17 20.5| D2S25 |44 | 4461 | D3S25 | 645 4689 | D4S25 |85 | 5397 | D5S25 |105.5 5867
WDX 210 25 [21.0| D2S25 [45 | 4461 | D3S25 | 660 4680 | D4S25 |87 | 5397/ | D5S25 [108.0] 5867
WDX 215 215| D2525 |46 | 4461 | D3S25 | 67.5] 4689 | D4S25 |89 | 5397 | D5S25 |110.5 5867
WDX 220 20.0| D225 |47 | 4461 | D3S25 | 69.0] 4689 | D4s25 |91 | 5397 | D5525 [113.0 5867
WDX 225 22.5| D2525 |48 | 4461 | D3S25 | 70.5] 4689 | D4S25 |93 | 5397 | D5525 |115.5 5867
WDX 230 23.0| D2S25 |49 | 4558 | D3S25 |72.0] 4797 | D4S25 |95 | 5512 | D5S25 |118.0] 5993
WDX 235 23.5] D2525 |50 | 4558 | D3S25 | 73.5] 4797 | D4S25 |97 | 5512 | D5S25 |120.5 5993
WDX 240 240] D2525 |51 | 4558 | D3S25 | 75.0] 4797 | D4S25 |99 | 5512 | D5S25 |123.0] 5993
WDX 245 245] D2525 |52 | 4558 | D3S25 |76.5] 4797 | D4S25 | 101 | 5512 | D5S25 |125.5| 5993
WDX 250 250] D2525 |53 | 4558 | D3S25 | 78.0] 4797 | D4S25 | 103 | 5512 | D5S25 |128.0] 5993
WDX 255 WDXT | M2.5x6 255] D2532 |54 | 4752 | D3S32 |79.5] 5002 | D4S32 | 105 | 5755 | D5s32 | - | -

WDX 260 073506 | T8 260| D2S32 |55 | 4752 | D3S32 | 81.0] 5002 | D4S32 | 107 | 5755 | D5S32 | 133 | 6254
WDX 265 26.5] D2532 |56 | 4752 | D3S32 |82.5] 5002 | D4S32 | 109 | 5755 | D5s32 | - | -

WDX 270 27.0] D2532 |57 | 4752 | D3S32 | 84.0] 5002 | D4S32 | 111 | 5755 | D5S32 | 138 | 6254
WDX 275 27.5| D2532 |58 | 4752 | D3S32 |85.5] 5002 | D4S32 | 113 | 5755 | D5S32 | - | _

WDX 280 280| D2532 |59 | 4752 | D3S32 |87.0] 5002 | D4S32 | 115 | 5755 | D5S32 | 143 | 6254
WDX 285 32 [285] D2S32 |60 | 4752 | D3S32 | 885 5002 | D4S32 | 117 | 5755 | D5S32 | - | -

WDX 290 200| D2532 |62 | 4752 | D3S32 |91.0] 5002 | D4S32 | 120 | 5755 | D5S32 | 149 | 6254
WDX 295 205| D2S32 |63 | 4752 | D3S32 |92.5] 5002 | D4S32 | 122 | 5755 | D5s32 | - | -

WDX 300 30.0] D2532 |64 | - | D3S32 |940] - | D4S32 | 124 | 6400 | D5S32 | 154] 6776
WDX 310 31.0| D2s32 |66 D3s32 |97.0] - | D4s32 | 128 | 6250 | D5S32 | 159 6776
WDX 320 320 D2s32 |68 | - | D3s32 |100| - | D4s32 | 132 | 6400 | D5S32 | 164 ] 6776
WDX 300 WDXT | M3.5x8 30.0] D2540 |64 | 5147 | D3S40 | 94.0] 5423 | D4S40 | 124 | 6250 | D5S40 | 154 6776
WDX 310 094008 | T15 31.0| D2540 |66 | 5147 | D3S40 | 97.0] 5423 | DAS40 | 128 | 6400 | D5540 | 159 6776
WDX 320 320 D2540 |68 | 5147 | D3S40 | 100 | 5423 | D4S40 | 132 | 6250 | D5S40 | 164 6776
WDX 330 330| D2540 |70 | 5147 | D3S40 | 103 | 5423 | D4s40 | 136 | 6250 | D5540 | 169 | 6776
WDX 340 340| D2540 |72 | 5147 | D3S40 | 106 | 5423 | DAS40 | 140 | 6250 | D5540 | 174] 6776
WDX 350 350| D2S40 |74 | 5147 | D3S40 | 109 | 5423 | D4S40 | 144 | 6250 | D540 | 179 6776
WDX 360 36.0] D2540 |76 | 5147 | D3S40 | 112 | 5423 | D4S40 | 148 | 6250 | D5540 | 184 6776
WDX 370 37.0| D2S40 |79 | 5941 | D3S40 | 116 | 6254 | D4S40 | 153 | 7190 | D5S540 | 190

WDX 380 380| D2S40 |81 | 5041 | D3S40 | 119 | 6254 | D4S40 | 157 | 7190 | D5S40 | 195

WDX 390 300 D2540 |83 | 5041 | D3S40 | 122 | 6254 | D4540 | 161 | 7190 | D5S540 | 200

WDX 400 WOXT | M5.0x12 200 D2540 |85 | 5941 | D3S40 | 125 | 6254 | D4S40 | 165 | 7190 | D5S40 | 205

WDX 410 21.0] D2540 |87 | 5941 | D3540 |128 | 6254 | D4S40 | 169 | 7190 | D5S40 | 210

WDX 420 125012 | T15 22.0] D2540 |89 | 5941 | D3540 | 131 6254 | D4S40 | 173 | 7190 | D5540 | 215

WDX 430 23.0] D2540 |91 | 5941 | D3S40 | 134 | 6254 | D4SA0 | 177 | 7190 | D5S40 | 220

WDX 440 240 D2540 |93 | 5941 | D3S40 | 137 | 6254 | D4S40 | 181 | 7190 | D5S40 | 225

WDX 450 450 D2540 |95 | 5941 | D3540 | 140 | 6254 | D4S40 | 185 | 7190 | D5S40 | 230

WDX 460 260 D2540 |97 | 6444 | D3S40 | 143 | 6776 | D4S40 | 189 | 7797 | D5540 | 235

WDX 470 27.0] D2540 |99 | 6444 | D3540 | 146 | 6776 | D4S40 | 193 | 7797 | D5S40 | 240

WDX 480 280 D2540 | 101 | 6444 | D3540 | 149 | 6776 | D4S40 | 197 | 7797 | D5540 | 245

WDX 490 40 [29.0] D2540 | 103 | 6444 | D3540 | 152 | 6776 | D4SA0 | 201 | 7797 | D5S40 | 250

WDX 500 WDXT | M6.0x15 50.0] D2540 | 105 | 6444 | D3S40 | 155 | 6776 | D4S40 | 205 | 7797 | D5S40 | 255

WDX 510 156012 | T15 51.0] D2540 | 107 | 6765 | D3S40 | 158 | 7115 | D4S40 | 209 | 8192 | D5540 | 260

WDX 520 52.0| D2540 | 109 | 6765 | D3s40 | 161 | 7115 | D4S40 | 213 | 8192 | D5S40 | 265

WDX 530 53.0| D2540 | 111 6765 | D3S40 | 164 | 7115 | D4sa0 | 217 | 8192 | D5540 | 270

WDX 540 540| D2540 | 113 | 6765 | D3S40 | 167 | 7115 | D4sa0 | 221 | 8192 | D5S40 | 275

WDX 550 55.0| D2540 | 115 | 6765 | D3S40 | 170 | 7115 | D4S40 | 225 | 8192 | D540 | 280

WDX 560 56.0| D2540 | 120 | 7611 | D3S40 | 176 | 8442 | D4S40 | 232 | 9642 | D5S40

WDX 570 57.0| D2540 | 122 | 7611 | D3S40 | 179 | 8442 | D4S40 | 236 | 9642 | D5S40

WDX 580 58.0| D2540 | 124 | 7611 | D3S40 | 182 | 8442 | D4S40 | 240 | 9642 | D5540

WDX 590 50.0| D2540 | 126 | 7611 | D3S40 | 185 | 8442 | D4S40 | 244 | 9642 | D5540

WDX 600 WDXT | M6.0x15 60.0| D2S40 [128 | 7611 | D3S40 | 188 | 8442 | D4S40 |248 | 9642 | D5540

WDX 610 186012 | T15 61.0| D2540 | 130 | 7924 | D3S40 | 191 | 8807 | D4S40 | 252 | 10112] D5540

WDX 620 62.0| D2540 | 132 | 7924 | D3S40 | 194 | 8807 | D4S40 | 256 | 10112] D5540

WDX 630 63.0| D2540 | 134 | 7924 | D3S40 | 197 | 8807 | D4S40 | 260 | 10112] D5540

WDX 640 64.0| D2540 | 136 | 7924 | D3S40 | 200 | 8807 | D4540 D5540

WDX 650 650| D2s40 | 138 | 7924 | D3s40 | 203 | 8807 | D4s40 D5540

WEB:http://www.mzg.tw

K04


http://www.mzg.tw

WC Type Disposable Fast Drill
2 Multiple Fast Drill-WC Insert

3 Multiple Fast Drill-WC Insert

Blind substrate dimension instruction

Quadrilateral blade
shallow hole drilling

Blade specifications

Wave heighta

WCMT030208

Blade specifications | wave height a
SPMG050204 0.30mm
I - SPMG060204 0.40mm
SPMG07T308 0.50mm
SPMG090408 0.70mm
SPMG0110408 0.80mm
SPMG140512 0.90mm

K05

SPMG050204 0-40mm
WCMT030208
SPMG060204 0-40mm
WCMT040208
SPMG060204 0-50mm
WCMT050308
SPMG070308 0-70mm
Drill a hole with a diameter
WCMT060308
of 20mm and a depth of 40mm, SPMG110408 0.90mm
the feed rate is 190mm/min:
WCMT080412 1 20mm
SPMG140512

A - - !
- . ; & - g
v | \ %_ - THE—— L L1 . R L2 -
! L L2
L
Order Type Model L1 L2 | L D d |Applicable toinsert| screw |Wench| Price Order Type Model L1 | L2 | L D | d Applicabletoinsert screw |Wrench Price
503100|2D02-14.0-XP25-WC03-02 | 33 | 56 | 106 | 14 700 503300 |7D03-14.0-XP25-WC03-02 | 47 | 56 | 120 | 14 7
503102|7D02-15.0-XP25-WC03-02 | 35 56 108 15 700 503302 |ZD03-14.5-XP25-WC03-02 48.5 56 122 14.5 7.
503104 |ZD02-16.0-XP25-WC03-02 | 37 56 110 16 700 503304 |ZD03-15.0-XP25-WC03-02 50 56 123 15 7.
503106 |ZD02-17.0-XP25-WC03-02 | 39 56 112 17 WCMT030208 700 503306 |ZD03-15.5-XP25-WC03-02 51.5 56 124 15.5 7.
503108|ZD02-18.0-XP25-WC03-02 | 41 56 114 18 700 503308 |ZD03-16.0-XP25-WC03-02 53 56 126 16 7.
503110 |ZD02-19.0-XP25-WC03-02 | 43 56 116 19 25 M2.5X6.5 700 50: 0]ZD03-16.5-XP25-WC03-02 54.5 56 127 16.5 7.
503112 |ZD02-20.0-XP25-WC03-02 | 45 56 119 20 700 50: 2|ZD03-17.0-XP25-WC03-02 56 56 129 17 WCMT030208| 7
503114 |ZD02-21.0-XP25-WC04-02 | 47 56 121 21 875 503314 |ZD03-17.5-XP25-WC03-02 57.5 56 130 17.5 7
503116 |ZD02-22.0-XP25-WC04-02 | 49 56 123 22 WCMT040208 T8 875 50: 6 |ZD03-18.0-XP25-WC03-02 59 56 132 18 7
503118 |ZD02-23.0-XP25-WC04-02 | 51 56 125 23 875 50: 81ZD03-18.5-XP25-WC03-02 60.5 56 133 18.5 M2.5x6.5| T8 7.
503120|ZD02-24.0-XP25-WC04-02 | 53 56 127 24 875 50: 0 |ZD03-19.0-XP25-WC03-02 62 56 135 19 25 7.
503122 |ZD02-25.0-XP32-WC05-02 | 55 60 141 25 875 50: 2 |ZD03-19.5-XP25-WC03-02 63.5 56 136 19.5 7
503124 |ZD02-26.0-XP32-WC05-02 | 57 60 143 26 988 503324 |ZD03-20.0-XP25-WC03-02 65 56 139 20 7
503126 7D02-27.0-XP32-WC05-02 | 59 | 60 | 145 | 27 988 503326 |7D03-20.5-XP25-WC03-02 | 665 | 56 | 140 | 205 5
503128]ZD02-28.0-XP32-WC05-02 | 61 | 60 | 147 | 28 WCMT050308 | M3x7 988 503328 |ZD03-21.0-XP25-WC04-02 | 68 | 56 | 142 | 21 5
503130]2D02-29.0-XP32-WC05-02 | 63 | 60 | 149 | 29 988 503330 |7D03-21.5-XP25-WC04-02 | 695 | 56 | 143 | 215 5
503132]2D02-30.0-XP32-WC05-02 | 65 | 60 | 151 | 30 988 503332 [7D03-22.0-XP25-WC04-02 | 71 | 56 | 145 | 22 5
503134]ZD02-31.0-XP32-WC05-02 | 67 | 60 | 153 | 31 1150 503334 |7D03-22.5-XP25-WC04-02 | 725 | 56 | 148 | 225 WCMT040208 5
503136]2D02-32.0-XP32-WC06-02 | 69 | 60 | 155 | 32 1150 503336 [7D03-23.0-XP25-WC04-02 | 74 | 56 | 148 | 23 925
503138]7D02-33.0-XP32-WC06-02 | 71 | 60 | 157 | 33 | 3 1150 503338 |7D03-23.5-XP25-WC04-02 | 755 | 56 | 149 | 235 925
503140|ZD02-34.0-XP32-WC06-02 | 73 60 159 34 1150 503340 | ZD03-24.0-XP25-WC04-02 77 56 151 24 925
503142|ZD02-35.0-XP32-WC06-02 | 75 | 60 | 161 | 35 1150 503342 [7D03-24.5-XP25-WC04-02 | 785 | 56 | 152 | 245 925
503144 |2D02-36.0-XP32-WC06-02 | 77 | 60 | 163 | 36 1258 503344 [7D03-25.0-XP32-WC05-02 | 80 | 60 | 166 | 25 925
503146]2D02-37.0-XP32-WC06-02 | 79 | 60 | 165 | 37 WCMT06T308| M3.5x8 1258 503346 |7D03-25.5-XP32-WC05-02 | 815 | 60 | 167 | 255 1038
503148|7ZD02-38.0-XP32-WC06-02 | 81 60 167 38 1258 503348 | ZD03-26.0-XP32-WC05-02 83 60 169 26 1038
503150|ZD02-39.0-XP32-WC06-02 | 83 60 169 39 1258 503350 |ZD03-26.5-XP32-WC05-02 84.5 60 170 26.5 1038
503152|ZD02-40.0-XP32-WC06-02 | 85 60 171 40 1258 503352 |ZD03-27.0-XP32-WC05-02 86 60 172 27 1038
503154 |ZD02-41.0-XP32-WC06-02 | 87 60 173 41 1450 503354 |ZD03-27.0-XP32-WC0s-02 87.5 60 173 27.5 1038
503156]2D02-42.0-XP32-WC06-02 | 89 | 60 | 175 | 42 1450 503356 |7D03-26.0-XP32-WC05-02 | 89 | 60 | 175 | 28 WCMT050208] M3x7 | T8 | 1038
503158|2D02-43.0-XP40-WC08-02 | 91 | 65 | 186 | 43 1450 503358 |7D03-28.0-XP32-WC0s-02 | 905 | 60 | 176 | 285 1038
503160]2D02-44.0-XP40-WC08-02 | 93 | 65 | 188 | 44 1450 503360 [7D03-29.0-XP32-WC05-02 | 92 | 60 | 178 | 29 1038
503162]7D02-45.0-XP40-WC08-02 | 95 | 65 | 190 | 45 1450 503362 |7D03-29.5-XP32-WC05-02 | 935 | 60 | 179 | 295 1038
503164]2D02-46.0-XP40-WC08-02 | 97 | 65 | 192 | 46 1638 503364 |7D03-30.0-XP32-WC05-02 | 95 | 60 | 181 | 30 1038
503166|2D02-47.0-XP40-WC08-02 | 99 | 65 | 194 | 47 1638 503366 |7D03-30 5-XP32-WC05-0T | 965 | 60 | 182 | 305 1213
503168|2D02-48.0-XP40-WC08-02 | 101 | 65 | 196 | 48 1638 503368 |7D03-31.0-XP32-WC05-02 | 98 | 60 | 184 | 31 1213
503170]ZD02-49.0-XP40-WC08-02 | 103 | 65 | 198 | 49 WCMT080412| M4x 10 1638 503370 |7D03-31.5-XP32-WC05-02 | 99.5 | 60 | 185 | 315 1213
503172]ZD02-50.0-XP40-WC08-02 | 105 | 65 | 200 | 50 1638 503372 ZD03-32.0-XP32-WC05-02 | 101 | 60 | 187 | 32 | 32 1213
503174]ZD02-51.0-XP40-WC08-02 | 107 | 65 | 202 | 51 T15|_1853 503374 |7D03-32.5-XP32-WC06-02__|1025| 60 | 188 | 325 1213
503176]2D02-52.0-XP40-WC08-02 | 109 | 65 | 204 | 52 1853 503376 |7D03-33.0-XP32-WC06-02__| 104 | 60 | 190 | 33 1213
503178]2D02-53.0-XP40-WC08-02 | 111 | 65 | 206 | 53 1853 503378 |7D03-33.5-XP32-WC06-02__[105.5] 60 | 191 | 335 1213
503180 |2D02-54.0-XP40-WC08-02 | 113 | 65 | 208 | 54 1853 503380 |7D03-34.0-XP32-WC06-02 | 107 | 60 | 193 | 34 1213
503182/2D02-55.0-XP40-WC08-02 | 115 | 65 | 210 | 55 | 4 1853 503382 |7D03-34.5-XP32-WC06-02 | 108.5| 60 | 194 | 345 1213
503184 |2D02-56.0-XP40-WC0S-02 | 117 | 65 | 212 | 56 2043 503384 |7D03-35.0-XP32-WC06-02__| 110 | 60 | 196 | 35 1213
503186 |2D02-57.0-XP40-WC08-02 | 119 | 65 | 214 | 57 2043 503386 |ZD03-35.5-XP32-WC06-02__|111.5] 60 | 197 | 355 1325
503188 |2D02-58.0-XP40-WC06-04 | 121 | 65 | 216 | 58 2043 503388 |ZD03-36.0-XP32-WC06-02_| 113 | 60 | 199 | 36 1325
503190 |2D02-59.0-XP40-WC06-04 | 123 | 65 | 218 | 59 2043 503390 |ZD03-36.5-XP32-WC06-02 | 1145 | 60 | 200 | 365 WCMTO06T308| M3.5x8 | T15 [ 1325
503192|ZD02-60.0-XP40-WC06-04 | 125 | 65 | 220 | 60 2043 503392 |7D03-37.0-XP32-WC06-02 | 116 | 60 | 202 | 37 1325
503194|ZD02-61.0-XP40-WC06-04 | 127 | 65 | 222 | 61 503394 |7D03-37.5-XP32-WC06-02 | 117.5| 60 | 203 | 37.5 1325
503196|2D02-62.0-XP40-WC06-04 | 120 | 65 | 224 | 62 WCMTO6T308| M3.5x8 503396 |ZD03-38.0-XP32-WC06-02 | 119 | 60 | 205 | 38 1325
503198|2D02-63.0-XP40-WC06-04 | 131 | 65 | 226 | 63 503398 |7D03-38.5-XP32-WC06-02 | 1205 | 60 | 206 | 38.5 1325
503200|ZD02-64.0-XP40-WC06-04 | 133 | 65 | 228 | 64 503400 |ZD03-39.0-XP32-WC06-02 | 122 | 60 | 206 | 39 1325
503202 |ZD02-65.0-XP40-WC06-04 | 135 | 65 | 230 | 65 503402 |7D03-39.5-XP32-WC06-02 | 123.5| 60 | 209 | 39.5 1325
503404 |ZD03-40.0-XP32-WC06-02__| 125 | 60 | 211 | 40 1325
503406]2D03-41.0-XP32-WC06-02 | 128 | 60 | 214 | 41 1525
. . . 503408(7D03-42.0-XP32-WC06-02 | 131 | 60 | 217 | 42 1525
QU|Ck drill Cutt”’]g data reference table 503410(2D03-43.0-XP40-WC08-02 | 134 | 65 | 229 | 43 1525
503412|ZD03-44.0-XP40-WC08-02 | 137 | 65 | 232 | 44 1525
503414]7D03-45.0-XP40-WC08-02 | 140 | 65 | 235 | 45 1525
Diameter|Material RPM 2xD Feeding 3xD Feeding 4xD Feeding 5xD Feeding Materg 503416]ZD03-46.5-XP40-WC08-02 | 143 | 65 | 238 | 46 1725
503418|ZD03-47.0-XP40-WC08-02 | 146 | 65 | 241 | 47 1725
14-17 2500-2300| Lothe F0.06-0.07 Lathe F0.06-0.07 Lathe F0.05-0.06 Lathe F0.05-0.06 503420|ZD03-48.0-XP40-WC08-02 | 149 | 65 | 244 | 48 1725
B Machine F150-180 | Machine F150-180 | Machine F130-150 | Machine F130-150 5034227D03-49.0-XP40-WC08-02 | 152 | 65 | 247 | 49 WCMT080412| Max10 1725
18-20 5300-2100| L2the F0.085-0.10 | Lathe F0.085-0.10 [Lathe F0.06-0.07 Lathe F0.06-0.07 50342417D03-50.0-XP40-WC08-02 | 155 | 65 | 250 | 50 * 1725
B Machine F180-200 | Machine F180-200 | Machine F150-170 | Machine F150-170 5034267D03-51.0-XP40-WC08-02 | 158 | 65 | 253 | 51 1950
21.23 5100-1900| L2the F0.085-0.10 [ Lathe F0.085-0.10 | Lathe F0.06-0.07 Lathe F0.06-0.07 503428|7D03-52.0-XP40-WC08-02 | 161 | 65 | 256 | 52 T15 1950
B - Machine F180-200 | Machine F180-200 | Machine F150-170 | Machine F150-170 5034307D03-53.0-XP40-WC08-02 | 164 | 65 | 259 | 53 | 49 1950
24-26 1800-1700| L2the FO10-0.12 [ Lathe F0.10-0.12 |Lathe F0.09-0.11 Lathe F0.08-0.09 503432|ZD03-54.0-XP40-WC08-02 | 167 | 65 | 262 | 54 1950
) Machine F170-200 | Machine F170-200 | Machine F160-190 | Machine F150-180 | | |503434|ZD03-55.0-XP40-WC08-02 | 170 | 65 | 265 | 55 1950
27-29 1600-1500| athe FO.10-0.13 [ Lathe F0.10-0.13 [Lathe F0.10-0.12 Lathe F0.09-0.11 © 503436|7D03-56.0-XP40-WC08-02 | 173 | 65 | 268 | 56 2150
) Machine F160-200 | Machine F160-200 | Machine F160-180 | Machine F140-160 | ©.| [203438/ZD03-57.0-XP40-WC08-02 | 176 | 65 | 271 | 57 2150
30-32 1500-1400| L2the F0.10013  [Lathe FO0.10-0.13 [Lathe F0.10-012 | Lathe F0.09-0.11 2| [503440|7D03-58.0-XP40-WC06-04 | 179 | 65 | 274 | 58 2150
) 1400) Machine F150-180 | Machine F150-180 | Machine F140-170 | Machine F130-150 | & |  [503442|ZD03-59.0-XP40-WC06-04 | 182 | 65 | 277 | 59 2150
3335 9 1400-1300| L2te FO.10-013  [Lathe F0.10-0.13  [Lathe F0.10-0.12 [LatheF0.10-0.12 | & | 1503444,7D03-60.0-XP40. WC06.04 | 185 | 65 | 260 1 60 2150
=2 Machine F130-160 | Machine F140-170 | Machine F130-160 | Machine F130-160 | & | |50344617D03-61.0-XP40-WC06-04 | 188 |65 | 283 | 61 WCMT06T308| M3.5x8
36-38 | & 1300-1200| e F010-0.13  [Lathe F0.10-013  [Lathe F0.10-0.12 [ Lathe F009-0.11 | S 50344817D03-62.0-XP40-WC06-04 | 191 | 65 | 286 | 62
i} o 1<% Machine F120-150 | Machine F130-150 | Machine F120-150 | Machine F110-130 | | [293450|ZD03-63.0-XP40-WC06-04 | 194 | 65 | 289 | 63
39-41 @ 1200-1100 2the F0.10-013 [Lathe F010-0.13 ~ [Lathe F0.10-012 | Lathe 0.09-011 | & 503452/7D03-64.0-XP40-WC06-04 | 197 | 65 | 292 | 64
e Machine F110-140 | Machine F110-140 | Machine F110-130 | Machine F100-120 | § | ~503454]ZD03-65.0-XP40-WC06-04] 200 | 65 | 295 | 65
= Lathe F0.11-0.14 | Lathe F0.11-013  |Lathe F0.10-0.12 | Lathe F0.09-0.11 Y A .
42-44 1100-1000) \jachine F105-135 | Machine F105-135 | Machine F95-120 | Machine F90-110 | blind substrate dimension instruction Shorthole drill with equilateral
45.47 1000950 | L2the FO-11-0.14 [ Lathe F0.10-0.13 [Lathe F0.10-012 [ Lathe F0.09-0.11 @ equilateral hexagon blade
- - Machine F100-130 | Machine F100-120 | Machine F90-110 Machine F80-100 R |
48-50 950900 | Lethe FO11-0.14  |Lathe F0.10-013 | Lathe F0.10-0.12 | Lathe F0.09-0.11 Blade specifications| Wave heighta
B Machine F95-120 Machine F90-110 Machine F85-105 Machine F75-95 WCMT030208 0.50mm
51-53 900-850 Lathe F0.11-0.14 Lathe F0.10-0.13 Lathe F0.10-0.12 Lathe F0.09-0.11 WCMT040208 0.60mm
. ) Machine F95-110 | Machine F80-100 | Machine F80-100 | Machine F70-85 — WCMT050308 0.80mm =
156 Lathe F0.11-0.14 | Lathe F0.10-0.13 |Lathe F0.10-0.12 | Lathe F0.09-0.11 WCMT060308 0.95mm
54-5 850-800 | \tachine F85-105 | Machine F75-95 | Machine F75-95 | Machine F65-80 WCMT080412 | 1.25mm
57-60 400.750 |LAthe FO11-0.14 [Lathe F0.10-013 | Lathe F0.10-0.12 | Lathe F0.09-0.11
- - Machine F80-100 Machine F70-90 Machine F70-90 Machine F60-75

Hexagon and hexagon combined
blade shallow hole drill

_40 —
—190x60—13s

-H
TC—WXGO

WEB:http://www.mzg.tw


http://www.mzg.tw

andon Type Drill

WC Type DiSfosabIe Fast Drill .
Multiole Fast Drill-WC Insert 5 Multiple Fast Drill-WC Insert

o - af — E
- A k . - ) L
1 ~— = o —
Y — \ ot 1 3 L 1
i L1 e L2
L I %) T

Order Type Model L1 | L2 L D d Applicabletoinsert screw |Wrend| Price Order Type Model L1 | L2 L D d Applicabletoinser{ screw |Wrench| Price
503500|ZD04-14.0-XP25-WC03-i 61 56 134 14 825 503700{ZD05-14.0-XP25-WC03-02 | 75 56 148 14 950
503502 ZD04-14.5-XP25-WC03- 63 | 56 | 136 | 14.5 825 503702(ZD05-14.5-XP25 WC03-02 |.77.5 | 56 | 150 | 14.5 950
503504 |ZD04-15.0-XP25-WC03-! 65 56 | 138 | 15 825 503704[ZD05-15.0-XP25-WC03-02 | 80 56 | 153 | 15 950
503506 ZD04-15.5-XP25-WC03- 67 | 56 | 140 | 15.5 825 503706|ZD05-15.5-XP25-WC03-02 [ 82.5 | 56 | 155 [ 155 950
503508 ZD04-16.0-XP25-WC03- 69 | 56 | 142 | 16 825 503708|ZD05-16.0-XP25-WC03-02 | 85 | 56 | 158 | 16 950
503510|ZD04-16.5-XP25-WC03- 71 | 56 | 144 | 16.5 825 503710|ZD05-16.5-XP25-WC03-02 [ 87.5 | 56 | 160 | 16.5 950
503512[ZD04-17.0-XP25-WC03-02| 73 56 | 146 | 17 825 503712[ZD05-17.0-XP25-WC03-02 | 90 56 | 163 | 17 950
503514 |ZD04-17.5-XP25-WC03-02 | 75 | 56 | 148 | 17.5 WCMT030208 825 503714|2D05-17.5-XP25-WC03-02 | 92.5 | 56 | 165 [ 17.5 WCMT030208 950
5035162D04-18.0-XP25-WC03-02| 77 | 56 | 150 | 18 825 503716(2D05-18.0-XP25-WC03-02 | 95 | 56 | 168 | 18 950
503518|ZD04-18.5-XP25-WC03-02| 79 | 56 | 152 | 185 | 2° 825 503718|2D05-18.5-XP25-WC03-02 | 97.5 | 56 | 170 | 18.5 | 2> 950
503520(zD04-19.0-XP25-WC03-02| 81 | 56 | 154 | 19 M2.5x6.5| T8 [_825 503720(ZD05-19.0-XP25-WC03-02 | 100 | 56 | 173 | 19 M25x65| T8 |_950
503522ZD04-19.5-XP25-WC03-02 | 83 | 56 | 155 | 19.5 825 503722|ZD05-19.5-XP25-WC03-02 [102.5] 56 | 174 [ 19.5 950
503524 ZD04-20.0-XP25-WC03-02 | 85 | 56 | 159 | 20 825 503724zD05-20.0-XP25-WC03-02 | 105 | 56 | 179 | 20 950
503526 |ZD04-20.5-XP25-WC03-02 | 87 56 | 161 | 20.5 1025 503726[ZD05-20.5-XP25-WC03-02 [107.5| 56 | 181 [20.5 1150
503528 |ZD04-21.0-XP25-WC03-02 | 89 56 | 163 | 21 1025 503728[ZD05-21.0-XP25-WC04-02 | 110 | 56 | 184 [ 21 1150
503530|ZD04-21.5-XP25-WC04-02 | 91 56 | 165 | 21.5 1025 503730[ZD05-21.5-XP25-WC04-02 [112.5| 56 | 186 |21.5 1150
503532 |ZD04-22.0-XP25-WC04-02 | 93 56 | 167 | 22 1025 503732[ZD05-22.0-XP25-WC04-02 | 115 | 56 | 189 | 22 1150
503534|ZD04-22.5-XP25-WC04-0. 95 56 169 | 22.5 0 503734|ZD05-22.5-XP25 WC04 02 |117.5| 56 193 | 225 50
503536(7D04-23.0-XP25-WC04-02 | 97 | 56 | 171 | 23 WEMT040208 0 503736]2D05-23.0-XP25-WC04-02 | 120 | 56 | 194 | 23 WCMT040208 50
5035387D04-23.5-XP25-WC04-02| 99 | 56 | 173 | 23.5 0 503738(ZD05-23.5-XP25-WC04-02 [122.5] 56 | 196 | 23.5 50
503540(7D04-24.0-XP25-WC04-02 | 101 | 56 | 175 | 24 0 503740(ZD05-24.0-XP25-WC04-02 | 125 | 56 | 199 | 24 50
5035427D04-24.5-XP25-WC04-02 | 103 | 56 | 177 | 24.5 0 503742|7D05-24.5-XP25-WC04-02 [127.5] 56 | 201 | 24.5 50
503544|7D04-25.0-XP32-WC04-02 | 105 | 60 | 191 | 25 0 503744]ZD05-25.0-XP32-WC05-02 | 130 | 60 | 216 | 25 50
503546]7D04-25.5-XP32-WC03-02 | 107 | 60 | 193 | 25.5 503746|7D05-25.5 xP32 WC05-02 [132.5] 60 | 218 | 25.5 00
5035487D04-26.0-XP32-WC03-02 | 109 | 60 | 195 | 26 0 503748(ZD05-26.0-XP32-WC05-02 | 135 | 60 | 221 | 26 00
503550]7D04-26.5-XP32-WC03-02 | 111 | 60 | 197 | 26.5 0 503750|ZD05-26.5-XP32-WC05 02 [137.5] 60 | 223 | 26.5 00
503552|7D04-27.0-XP32-WC03-02 | 113 | 60 | 199 | 27 0 503752(ZD05-27.0-XP32-WC05-02 | 140 | 60 | 226 | 27 00
503554]7D04-27.5-XP32-WC03-02 | 115 | 60 | 201 | 27.5 0 503754|7D05-27.5-XP32-WC05-02 [142.5] 60 | 228 | 27.5 00
503556[ZD04-28.0-XP32-WC03-02 [ 117 | 60 | 203 [ 28 WCMT050308| M3x7 | T8 0 503756/ZD05-28.0-XP32-WC05-02 | 145 | 60 | 231 | 28 WCMT050308| M3x7 | T8 00
503558|7D04-28.5-XP32-WC03-02 | 119 | 60 | 205 | 28.5 0 503758|7D05-28.5-XP32-WC05-02 [147.5] 60 | 233 [ 28.5 00
503560]7D04-29.0-XP32-WC03-02 | 121 | 60 | 207 | 29 0 503760(ZD05-29.0-XP32-WC05-02 | 150 | 60 | 236 | 29 00
503562|7D04-29.5-XP32-WC03-02 | 123 | 60 | 209 | 29.5 0 503762|7D05-29.5-XP32-WC05-02 [152.5] 60 | 238 | 29.5 00
503564]7D04-30.0-XP32-WC03-02 | 125 | 60 | 211 | 30 0 503764]ZD05-30.0-XP32-WC05-02 | 155 | 60 | 241 | 30 00
503566]7D04-30.5-XP32-WC03-02 | 127 | 60 | 213 | 30.5 | 32 503766[2005-30.5-XP32-WC05-02 [157.5] 60 | 243 | 30.5 | 32 450
503568|7D04-31.0-XP32-WC03-02 | 129 | 60 | 215 | 31 503768(zD05-31.0-XP32-WC05-02 | 160 | 60 | 246 | 31 450
503570]7D04-31.5-XP32-WC03-02 | 131 | 60 | 217 | 31.5 503770|ZD05-31.5-XP32-WC05-02 [162.5] 60 | 248 | 31.5 450
503572|7D04-32.0-XP32-WC03-02 | 133 | 60 | 219 | 32 503772(ZD05-32.0-XP32-WC06-02 | 165 | 60 | 251 | 32 450
503574]7D04-32.5-XP32-WC06-02 | 135 | 60 | 221 | 32.5 503774|7D05-32.5-XP32-WC06-02 [167.5] 60 | 253 | 32.5 450
503576]7D04-33.0-XP32-WC06-02 | 137 | 60 | 223 | 33 503776(ZD05-33.0-XP32-WC06-02 | 170 | 60 | 256 | 33 450
503578|7D04-33.5-XP32-WC06-02 | 139 | 60 | 225 | 33.5 503778|7D05-33.5-XP32-WC06-02 [172.5] 60 | 258 | 33.5 450
503580|7D04-34.0-XP32-WC06-02 | 141 | 60 | 227 | 34 503780(ZD05-34.0-XP32-WC06-02 | 175 | 60 | 261 | 34 450
503582|7D04-34.5-XP32-WC06-02 | 143 | 60 | 229 | 34.5 503782|7D05-34.5-XP32-WC06-02 [177.5] 60 | 263 | 34.5 450
503584 |7D04-35.0-XP32-WC06-02 | 145 | 60 | 231 35 WCMTO06T308| M3.5x8 | T15 503784|ZD05-35.0-XP32-WC06-02 | 180 | 60 266 | 35 WCMTO06T308| M3.5x8 [T15| 1450
503586]7D04-35.5-XP32-WC06-02 | 147 | 60 | 233 | 35.5 4 503786|7D05-35.5-XP32-WC06-02 [182.5] 60 | 2668] 35.5 00
5035887D04-36.0-XP32-WC06-02 | 149 | 60 | 235 | 36 47 503788(ZD05-36.0-XP32-WC06-02 | 185 | 60 | 271 | 36 00
503590|7D04-35.5-XP32-WC06-02 | 151 | 60 | 237 | 36.5 47 503790|7D05-36.5-XP32-WC06-02 [187.5] 60 | 273 | 36.5 00
503592|7D04-37.0-XP32-WC06-02 | 153 | 60 | 239 | 37 1475 503792|ZD05-37.0-XP32-WC06-02 | 190 | 60 | 276 | 37 1600
503594]zD04-37.5-XP32-WC06-02 | 155 | 60 | 241 |37.5 1475 503794|7D05-37.5-XP32-WC06-02 [192.5] 60 [ 278 [37.5 1600
503596(ZD04-38.0-XP32-WC06-02 | 157 | 60 | 243 | 38 1475 533732 ZD05-38.0-XP32-WC06-02 | 195 | 60 | 281 | 38 1288
503598|7D04-38.5-XP32-WC06-02 | 159 [ 60 [ 245 [38.5 1475 503798 17D05-38.5-XP32-WC06-02 1197.5| 60 | 283 | 38.5
503600|ZD04-39.0-XP32-WC06-02 | 161 | 60 | 247 | 39 | 32 |WCMTO6T308| M3.5x8 1475 :ggggg iggzzggizggxggggg 200 S0 g8 39 lggg
503602 12D0:4:395:XP32-WC06:02M| 163 | 60 | 249 139.5 1475 503804] ZD05-40.0-XP32-WC06-02 | 205 | 60 | 291 | 40 | 32 |WCMTO06T308 | M3.5x8|T15[ 1600
503604 ZD04-40.0-XP32-WC06-02 | 165 | 60 | 251 | 40 1475 503806] 2D05-471.0-XP32-WC06-02 | 210 | €0 | 206 | 21 500
503606 [ZD04z41°0:XR322WC06202M| 169 | 60 | 255 | 41 1700 503808 7D05-42.0-XP32-WC06-02 | 215 | 60 | 301 | 42 7900
503608 |ZD04-42.0-XP32-WC06-02 | 173 | 60 | 259 | 42 1700 503810 ZD05-43.0-XP40-WC08-02 | 220 | 65 | 315 | 43 1900
503610]ZD04-43.0-XP40-WC08-02 | 177 | 65 | 272 | 43 1700 503812 ZD05-44.0-XP40-WC08-02 | 225 | 65 | 320 | 44 1900
503612|7D04-44.0-XP40-WC08-02 | 181 | 65 | 276 | 44 1700 503814[ ZD05-45.0-XP40-WC08-02 | 230 | 65 | 325 | 45 1900
503614 |ZD04-45.0-XP40-WC08-02 | 185 | 65 | 280 | 45 1700 503816 ZD05-46.0-XP40-WC08-02 | 235 | 65 | 330 | 46 2100
503616]2D04-46.0-XP40-WC08-02 | 189 | 65 | 284 | 46 1900 503818| ZD05-47.0-XP40-WC08-02 | 240 | 65 | 335 | 47 2100
503618ZD04-47.0-XP40-WC08-02 | 193 | 65 | 288 | 47 1900 503820| ZD05-48.0-XP40-WC08-02 | 245 | 65 | 340 | 48 2100
503620|ZD04-48.0-XP40-WC08-02 | 197 | 65 | 292 | 48 1900 503822 7D05-49.0-XP40-WC08-02 | 250 | 65 | 345 | 49 2100
503622 |ZD04-49.0-XP40-WC08-02 | 201 | 65 | 296 | 49 WeMTos0a12| Max1o T15 7900 503824[ ZD05-50.0-XP40-WC08-02 | 255 [ 65 | 350 | 50 WCMT080412 | M4x10 2100
503624 |ZD04-50.0-XP40-WC08-02 | 205 | 65 1300 | 50 x 1900 503826 ZD05-51.0-XP40-WC08-02 | 260 | 65 | 355 | 51 2300
503626 2D04-51.0-XPA0-WC08-02 | 209 | 65 304 | 51 2750 503828 ZD05-52.0-XP40-WC08-02 | 265 | 65 | 360 | 52 2300
503628|ZD04-52.0-XP40-WC08-02_| 213 | 65 | 308 | 52 2150 503830 ZD05-53.0-XP40-WC08-02 | 270 | 65 | 365 | 53 | 49 T15] 2300
503530 [ZDOS oI XPASWCos 0o 217 | 65 312 1 53 5150 503832 ZD05-54.0-XP40-WC08-02 | 275 | 65 | 370 | 54 2300

40 503834] ZD05-55.0-XP40-WC08-02 | 280 | 65 | 375 | 55 2300
503632ZD04-54.0-XP40-WC08-02 | 221 | 65 | 316 | 54 2150 503335 [lzDDe=selosXpADEWGos 0ol 285 | 65 | 380 | 56
503634 |zD04-55.0-XP40-WC08-02 | 225 | 65 | 320 | 55 2150 503838] 2D05-57.0-XP40-WCo08-02 | 290 | 65 | 385 | 57
503636|2D04-56.0-XP40-WC08-02 | 229 | 65 | 324 | 56 2375 503840] ZD05-58.0-XPA0-WC08-02 | 205 T 65 T390 | 58
503638]zD04-57.0-XP40-WC08-02 | 233 | 65 | 328 | 57 2375 503842 ZD05-59.0-XP40-WC08-02 | 300 | 65 | 395 | 59
503640 ZD04-58.0-XP40-WC06-04 | 237 | 65 | 332 | 58 2375 503844] ZD05-60.0-XP40-WC06-02 | 305 | 65 | 400 | 60
503642|ZD04-59.0-XP40-WC06-04 | 241 65 336 59 2375 503846| ZD05-61.0-XP32-WC06-02 | 310 65 | 405 61
503644 |ZD04-60.0-XP40-WC06-04 | 245 | 65 | 340 | 60 2375 503848 ZD05-62.0-XP32-WC06-02 | 315 | 65 | 410 | 62 WCMT06T308 | M3.5x8
503646 |ZD04-61.0-XP40-WC06-04 | 249 | 65 | 344 | 61 WCMT06T308 | M3.5x8 503850] ZD05-63.0-XP32-WC06-02 | 320 | 65 | 415 | 63
503648|ZD04-62.0-XP40-WC06-04 | 253 | 65 | 348 | 62 503852| ZD05-64.0-XP32-WC06-02 | 325 | 65 | 420 | 64
503650[ZD04-63.0-XP40-WC06-04 | 257 | 65 [ 352 | 63 503854 ZD05-65.0-XP32-WC06-02 | 330 | 65 | 425 | 65
503652]|ZD04-64.0-XP40-WC06-04 | 261 | 65 | 356 | 64
503654 |ZD04-65.0-XP40-WC06-04 | 265 | 65 | 360 | 65

Calculation method of relevant

parameters for fast drilling
Drilling speed

Vc(mm/min):Line speed

Vcx1000 .
S="Txbc Dc(mm):Drilling S=713?$Zl§80 =1900rev/min
S(rev/min):speed

Example:

The blade speed is 120m/min, the drill bit diameter is 20mm:

Feeding speed

Feeding speed
Vf(mm/min):Feeding speed
Fr(mm/rev):Feed per revolution

Example: S(rev/min):Spindle speed
Spindle speed 1900rev/min, feed per revolution of 0.1mm/rev, the feed rate : Vf=FrxS=1900x0.1 :190@!7 /min

Vf=FrxS

Hole processing time

H Tc(s):Processing time
Te=y¢x60 H(mm):Drilling depth

WEB:http://www.mzg.tw K06


http://www.mzg.tw

SP Type Disposable Fast Drill
2 Multiple Fast Drill-SP Insert 3 Multiple Fast Drill-SP Insert

- I 1 ——— “ i
— . == —
e 1. - e | = e ___;:_‘;- .
r I L u AT - ’ L 1 Il 8 .
Order Type Model L1 | L2 L D d Applicabletoinsert screw |Wrench| Price Order Type Model L1 | L2 L D d Applicabletoinserf screw |Wrench| Price
504100] ZD02-13.0-XP25-5P05-02 | 31 | 56 | 104 | 13 700 504200 ZD03-13.0-XP25-5P05-02 | 44 | 56 | 117 | 13 738
504102] ZD02-14.0-XP25-SP05-02 | 33 | 56 | 106 | 14 SPMG050204 | M2x5 700 504202] ZD03-13.5-XP25-5P05-02 | 45.5 | 56 | 118 | 13.5 738
504104] ZD02-15.0-XP25-5P05-02 | 35 | 56 | 108 | 15 700 504204] ZD03-14.0-XP25-SP05-02 | 47 | 56 | 120 | 14 SPMG050204 | M2x5 738
504106| ZD02-16.0-XP25-5P06-02 | 37 | 56 | 110 | 16 700 504206 ZD03-14.5-XP25-5P05-02 [48.5 | 56 | 122 | 14.5 738
504108] ZD02-17.0-XP25-5P06-02 | 39 | 56 | 112 | 17 T6 700 504208 ZD03-15.0-XP25-SP05-02 | 50 | 56 | 123 | 15 738
504110] ZD02-18.0-XP255P06-02 | 41 | 56 [ 114 | 18 | 25 | (o) coeson| v o 700 504210] ZD03-15.5-XP25-SP06-02 | 51.5 | 56 | 124 | 155 738
504112| ZD02-19.0-XP25-5P06-02 | 43 | 56 | 116 | 19 -ex 700 504212 ZD03-16.0-XP25-SP06-02 | 53 | 56 | 126 | 16 738
504114] ZD02-20.0 xP25-SP06-02 | 45 | 56 | 119 | 20 700 504214 ZD03-16.5-XP25-SP06-02 | 54.5 | 56 | 127 | 16.5 738
504116] ZD02-21.0-XP25-5P06-02 | 47 | 56 | 121 | 21 875 504216] ZD03-17.0-XP25-SP06-02 | 56 | 56 | 129 | 17 T6 [ 738
504118| ZD02-22.0-XP25-5P07-02 | 49 | 56 | 123 | 22 875 504218] ZD03-17.5-XP25-5P06-02 | 57.5 | 56 | 130 [ 17.5 738
504120] ZD02-23.0-XP25-5P07-02 | 51 | 56 | 125 | 23 375 504220] ZD03-18.0-XP25-SP06-02 | 59 | 56 | 132 | 18 SPMG060204 | M2.2x5 738
504122| ZD02-24.0-XP25-5P07-02 | 53 | 56 | 127 | 24 875 504222] ZD03-18.5-XP25-5P06-02 | 60.5 | 56 | 133 | 18.5 738
504124] ZD02-25.0-XP32-5P07-02 | 55 | 60 | 141 | 25 SPMGO7T308 | M12.5x6| T8 —g77 504224] ZD03-19.0-XP25-5P06-02 | 62 | 56 | 135 | 18 | > 738
504126] ZD02-26.0-XP32-SP07-02 | 57 | 60 | 143 | 26 988 504226 ZD03-19.5-XP25-5P06-02 | 63.5 | 56 | 136 | 19.5 738
504128] ZD02-27.0-XP32-5P07-02 | 59 | 60 | 145 | 27 988 504228 ZD03-20.0-XP25-SP06-02 | 65 | 56 | 139 | 20 738
504130] ZD02-28.0-XP32-SP09-02 | 61 | 60 | 147 | 28 988 504230] ZD03-20.5-XP25-5P06-02 | 66.5 | 56 | 140 | 20.5 925
504132| ZD02-29.0-XP32-5P09-02 | 63 | 60 | 149 | 29 988 504232] ZD03-21.0-XP25-5P06-02 | 68 | 56 | 142 | 21 925
504134] ZD02-30.0-XP32-5P09-02 | 65 | 60 | 151 | 30 SPMG090408 | M3.5x8 988 504234] ZD03-21.5-XP25-5P06-02 | 69.5 | 56 | 143 | 21.5 925
504136] ZD02-31.0-XP32-SP09-02 | 67 | 60 | 153 | 31 1150 504236| ZD03-22.0-XP25-5P07-02 | 71 | 56 | 145 | 22 925
504138| ZD02-32.0-XP32-SP09-02 | 69 | 60 | 155 | 32 1150 504238] ZD03-22.5-XP25-5P07-02 | 72.5 | 56 | 148 | 22.5 925
504140| ZD02-33.0-XP32-5P09-02 | 71 | 60 | 157 | 33 | 3p 1150 504240] ZD03-23.0-XP25-5P07-02 | 74 | 56 | 148 | 23 SPMGO7T308 | M2.5x6 | T8 225
504142| ZD02-34.0-XP32-SP11-02 | 73 | 60 | 159 | 34 T15[ 1150 504242] 7D03-23.5-XP25-5P07-02 | 755 | 56 | 149 | 235 925
504144] ZD02-35.0-XP32-SP11-02 | 75 | 60 | 161 | 35 7150 504244] ZD03-24.0-XP25-SP07-02 | 77 | 56 | 151 | 24 925
504146 ZD02-36.0-XP32-SP11-02 | 77 | 60 | 163 | 36 71258 504246| ZD03-24.5-XP25-5P07-02 | 78.5 | 56 | 152 | 24.5 925
504148| ZD02-37.0-XP32-5P11-02 | 79 | 60 | 165 | 37 SPMG110408 | M4xI0 1258 504248 ZD03-25.0-XP32-5P07-02 | 80 60 [ 166 | 25 925
504150] ZD02-38.0-XP32-SP11-02 | 81 | 60 | 167 | 38 1258 504250] ZD03-25.5-XP32-5P07-02 | 81.5 | 60 | 167 | 255 1038
504152| ZD02-39.0-XP32-SP11-02 | 83 | 60 | 169 | 39 1258 504252| ZD03-26.0-XP32-5P07-02 | 83 | 60 | 169 | 26 1038
504154 ZD02-40.0-XP32-SP11-02 | 85 | 60 | 171 | 40 1258 504254] ZD03-26.5-XP32-5P07-02 | 84.5 | 60 | 170 | 26,5 1038
504156] ZD02-41.0-XP32-SP14-02 | 87 | 60 | 173 | 41 7450 504256] ZD03-27.0-XP32-5P07-02 | 86 | 60 | 172 | 27 1038
504158 | ZD02-42.0-XP32-SP14-02 | 89 | 60 | 175 | 42 1450 504258] 7D03-27.5-XP32-5P07-02 | 87.5 | 60 | 173 | 27.5 1038
504160| ZD02-43.0-XP40-SP14-02 | 91 | 65 | 186 | 43 1450 504260] ZD03-28.0-XP32-5P09-02 | 89 | 60 | 175 | 28 1038
504162| 7D02-44.0-XP40-SP14-02 | 93 | 65 | 188 | 44 SPMG140512 | M5xI0 | T20 1450 504262 ZD03-28.5-XP32-5P09-02_| 90.5 | 60 | 176 | 28.5 1038
504164 ] ZD02-45.0-XP40-SP14-02 | 95 | 65 | 190 | 45 1450 504264] ZD03-20.0-XP32-5P09-02 | 92 | 60 | 178 | 20 | ,, |SPMG090408 | M35x8 |T15[ 1038
504166] ZD02-46.0-XP40-SP14-02 | 97 | 65 | 192 | 46 638 504266| ZD03-29.5-XP32-5P09-02 | 93.5 | 60 | 179 | 29.5 1038
504168| ZD02-47.0-XP40-SP14-02 | 99 | 65 | 194 | 47 1638 504268 | ZD03-30.0-XP32-5P09-02 | 95 | 60 | 181 | 30 1038
504170| ZD02-48.0-XP40-SP07-04 | 101 | 65 | 196 | 48 1638 504270| ZD03-30.5-XP32-5P09-02 | 96.5 | 60 | 182 | 30.5 1213
504172| ZD02-49.0-XP40-SP07-04 | 103 | 65 | 198 | 49 1638 504272] ZD03-31.0-XP32-5P09-02 | 98 | 60 | 184 | 31 1213
504174 ZD02-50.0-XP40-SP07-04 | 105 | 65 | 200 | 50 SPMGO7T308 | M2.5x6 | T8 7638 504274 ZD03-31.5-XP32-5P09-02 | 99.5 | 60 | 185 | 31.5 1213
504176] ZD02-51.0-XP40-SP07-04 | 107 | 65 | 202 | 51 | 40 1853 504276] ZD03-32.0-XP32-5P09-02 | 101 | 60 | 187 | 32 1213
504178| ZD02-52.0-XP40-SP09-04 | 109 | 65 | 204 | 52 7853 504278| ZD03-32.5-XP32-5P09-02_|102.5| 60 | 188 | 32.5 1213
504180| 7D02-53.0-XP40-SP09-04 | 1| 65 | 206 | 53 1853 504280 ZD03-33.0-XP32-SP09-02 | 104 | 60 | 190 | 33 1213
504182| ZD02-54.0-XP40-SP09-04 | 113 | 65 | 208 | 54 7853 504282 ZD03-33.5-XP32-5P09-02 |105.5| 60 | 191 | 33.5 1213
504184 ZD02-55.0-XP40-SP09-04 | 115 | 65 | 210 | 55 7853 504284] 7D03-34.0-XP32-SP11-02 | 107 | 60 | 193 | 34 1213
504186 ZD02-56.0-XP40-SP09-04 | 117 | 65 | 212 | 56 SPMG090408 | M3.5x8 | T15[ 2043 504286 7D03-34.5-XP32-SP11-02 [108.5| 60 | 194 | 34.5 1213
504188| ZD02-57.0-XP40-SP09-04 | 119 | 65 | 214 | 57 2043 504288| zD03-35.0-XP32-SP11-02 | 110 | 60 | 196 | 35 1213
504190| ZD02-58.0-XP40-SP09-04 | 121 | 65 | 216 | 58 2043 504290| 7D03-35.5-XP32-5P11-02 [111.5] 60 | 197 | 35.5 1325
504192] 7D02-59.0-XP40-SP09-04 | 123 | 65 | 218 | 59 2043 504292| zD03-36.0-XP32-SP11-02 | 113 | 60 | 199 | 36 1325
504194 ZD02-60.0-XP40-SP09-04 | 125 | 65 | 220 | 60 2043 504294] 7D03-36.5-XP32-SP11-02 [114.5| 60 | 200 | 36.5 SPMG110408 | M14x10|T15| 1325
504296] 7D03-37.0-XP32-SP11-02 | 116 | 60 | 202 | 37 | 32 1325
504298| 7D03-37.5-XP32-SP11-02 [117.5] 60 | 203 | 37.5 1325
504300| zD03-38.0-XP32-SP11-02 | 119 | 60 | 205 | 38 1325
Coolant flow ( 1/min) 504302| ZD03-38.5-XP32-SP11-02 [120.5 | 60 | 206 | 38.5 1325
504304] 7D03-39.0-XP32-SP11-02 | 122 | 60 | 206 | 39 1325
35 504306] 7D03-39.5-XP32-SP11-02 [123.5] 60 | 209 | 39.5 1325
504308| zD03-40.0-XP32-SP11-02 | 125 | 60 | 211 | 40 1325
504310| 7D03-41.0-XP32-5P14-02 | 128 | 60 | 214 | 41 1525
504312| zD03-42.0-XP32-SP14-02 | 131 | 60 | 217 | 42 1525
30 504314| 7D03-43.0-XP40-SP14-02 | 134 | 65 | 229 | 43 1525
o 504316| ZD03-44.0-XP40-SP14-02 | 137 65 | 232 44 SPMG140512 | M5xI10 |T20| 1525
g 504318| 7D03-45.0-XP40-SP14-02 | 140 | 65 | 235 | 45 1525
s 504320| 7D03-46.0-XP40-SP14-02 | 143 | 65 | 238 | 46 1725
2 5xD 504322| 7D03-47.0-XP40-SP14-02 | 146 | 65 | 241 | 47 1725
= 504324] 7D03-48.0-XP40-SP07-04 | 149 | 65 | 244 | 48 1725
2 o Zggsg 7D03-49.0-XP40-SP07-04 | 152 | 65 | 247 | 49 SPMGO7T308 | M2.5x6 | T8 | 1725
2 ZD03-50.0-XP40-SP07-04 | 155 | 65 | 250 | 50 1725
3 504330| zD03-51.0-XP40-5P07-04 | 158 | 65 | 253 | 5l 1950
E 3xD 504332 7D03-52.0-XP40-SP09-04 | 161 | 65 | 256 | 52 | 40 1950
2xD 504334] 7D03-53.0-XP40-SP09-04 | 164 | 65 | 259 | 53 1950
504336] zD03-54.0-XP40-SP09-04 | 167 | 65 | 262 | 54 1950
504338| 7D03-55.0-XP40-SP09-04 | 170 | 65 | 265 | 55 1950
504340| 7D03-56.0-XP40-5P09-04 | 173 | 65 | 268 | 56 SPMG090408 | M3.5x8 | T15_2150
504342| 7D03-57.0-XP40-SP09-04 | 176 | 65 | 271 | 57 2150
504344] 7D03-58.0-XP40-5P09-04 | 179 | 65 | 274 | 58 2150
504346] 7D03-59.0-XP40-SP09-04 | 182 | 65 | 277 | 59 2150
10, | | | | | | | | | | | | 504348| 7D03-60.0-XP40-5P09-04 | 185 | 65 | 280 | 60 2150
14 15 16 17 18 19 20 21 22 23 24 25 26
The diameter of drill (mm)
P [ ired
‘The following chart is the cutting force required for drilling
-U-Drill bits for off duty machine tools
= €6 o fn (mm/rev/rev)=0.13
E 16 fn (mm/rev/rev)=0.13 =z
T 1 z s - fn (mm/rev/rev)=0.10
g fn (mm/rev/rev)=0.10 o -
3 12 2 fn (mm/rev/rev)=0.07
Q fn (mm/rev/rev)=0.07 '2 4
2 10 ‘
£ 3
g 8
€ o
o 6| 2 J
e o
=, : r
3 1LE
o %o 20 30 10 50 60 10 20 30 40 50 60 c
0 Drilling diameter (mm) 0 Drilling diameter (mm)

Ko7 WEB:http://www.mzg.tw


http://www.mzg.tw

Abandon Type Drill

SP Type Disposable Fast Drill
4 Multiole Fast Drill-SP Insert 5 Multiple Fast Drill-SP Insert

: - L{\ﬁk{:T—’ I
y S~ — - ¢ g -
i . i . - - ol O — i
Order Type Model L1 |L2 | L D d Applicabletoinser{ screw |Wrench| Price Order Type Model L1 L2 | L D d pplicabletoinsert screw |Wrench| Price
504400 ZD04-13.0-XP25-5P05-02 | 57 | 56 | 130 | 13 25 504600] ZD05-13.0-XP25-5P05-02 | 70 | 56 | 143 | 13 950
504402] ZD04-13.5-XP25-SP05-02 | 59 | 56 | 132 |13.5 25 504602 ZD05-13.5-XP25-5P05-02 | 72.5 | 56 | 145 | 13.5 950
504404 | ZD04-14.0-XP25-SP05-02 | 61 | 56 | 134 | 14 SPMG060204 | M2x5 25 504604| ZD05-14.0-XP25-SP05-02 | 75 | 56 | 148 | 14 SPMG050204| M2x5 950
504406] ZD04-14.5-XP25-SP05-0 3 | 56 [136 [14.5 25 504606] ZD05-14.5-XP25-SP05-02 | 77.5 | 56 | 150 | 14.5 950
504408 ZD04-15.0-XP25-5P05-0 5 | 56 | 138 | 15 25 504608] ZD05-15.0-XP25-5P05-02 | 80 | 56 | 153 | 15 950
504410 2D04-15.5-XP25-5P06-0 7 40 1155 825 504610] ZD05-15.5-XP25-5P06-02 | 825 | 56 | 155 | 15.5 950
ggzﬂi ggj: g:;, = >g :g 42 11665 ggg 504612| ZD05-16.0-XP25-5P06-02 | 85 | 56 | 158 | 16 950
$04476 200417 0-XPas-cpoc03 | 7 26 1 1 T6 52 504614] ZD05-16.5-XP25-5P06-02 | 87.5 | 56 | 160 [ 16.5 950
504418 [RZDOASIIS=XE2SESP0s0 Al T 28 175 504616] ZD05-17.0-XP25-SP06-02 | 90 | 56 | 163 | 17 950
504420] ZD04-18 0-XP25-5p06-02 | 77 | 56 1150 | 18 SPMG060204 | M2.2x5 504618] ZD05-17.5-XP25-SP06-02 | 925 | 56 | 165 | 17.5 T6 [_950
504422[ 7D04-18.5-XP25-5P06-02 | 79 | 56 | 152 [18.5 | 25 504620 \ZDOS1RI0EXOSESROGZ0ZM 95 | 56 | 168 | 18 SPMG060204 | M2.2x5 950
504424] ZD04-19.0-XP25-5P06-.02 | 81 | 56 | 154 | 19 504622| ZD05-18.5-XP25-5P06-02 | 975 | 56 | 170 [185] 950
504426] ZD04-19.5-XP25-5P06-02 | 83 | 56 | 155 |19.5 5 504624] ZD05-19.0-XP25-SP06-02 | 100 | 56 | 173 | 19 950
504428| ZD04-20.0-XP25-SP06-0; 85 56 | 159 | 20 5 504626| ZD05-19.5-XP25-SP06-02 [102.5]| 56 | 174 | 19.5 950
504430] ZD04-20.5-XP25-5P06-0 7 | 56 [ 161 [20.5 1025 504628] ZD05-20.0-XP25-SP06-02 | 105 | 56 | 179 | 20 950
504432 7D04-21.0-XP25-5P06-0 9 | 56 | 163 | 21 1025 504630] ZD05-20.5-XP25-5P06-02 [107.5| 56 | 181 | 20.5 1750
504434| ZD04-21.5-XP25-SP06-0. 1 5 165 |21.5 1025 504632| ZD05-21.0-XP25-SP06-02 110 56 184 21 1150
04436 ZD04-22.0-XP25-5P07-0 3 |56 [167 | 22 0 504634] ZD05-21.5-XP25-SP06-02 [112.5| 56 | 186 | 21.5 7150
04438] ZD04-22.5-XP25-5P07-02 | 95 | 56 | 169 |22.5 0 504636] zD05-22.0-XP25-SP07-02 | 115 | 56 | 189 | 22 1150
04440 7D04-23.0-XP25-SP07-02 | 97 | 56 | 171 | 23 504638 ZD05-22.5-XP25-SP07-02 |117.5| 56 | 193 | 22.5 1150
04442/ 7D04-23.5-XP25-5P07-02 | 99 | 56 | 173 {235 504640 7D05-23.0-XP25-5P07-02 | 120 | 56 | 194 | 23 SPMGO7T308 | M2.5x6 1150
g:jj‘ %ggj'“jﬂg'izfs' Eg;'gz 18; gg 1;; 25145 SPMGO7T308 | M2.5x6 504642] ZD05-23.5-XP25 SPO7-02 [122.5| 56 | 196 | 23.5 g 1150
04448 2504 250 Xp5-2r0r 05 1 i0e T eo THor a5 T8 2 504644 ZD05-24.0-XP25-SP07-02 | 125 | 56 | 199 | 24 1150
2042501 700495 5 XP32-5p07-02 T 107 T 0 103 1355 5 504646] ZD05-24.5-XP25-SP07-02 [127.5| 56 | 201 | 24.5 T8 [ 1150
504452] ZD04-26.0-XP32-5P07-02 | 109 | 60 795 | 26 ;a 504648 zD05-25.0-XP32-5P07-02 | 130 | 60 | 216 | 25 1150
504454] ZD04-26 5-XP32-5P07-02 | 111 | 60 1797 136.5 1150 504650] ZD05-25.5-XP32-SP07-02 |132.5| 60 | 218 | 25.5 7300
504456] ZD04-27.0-XP32-5P07-02 [ 113 | 60 199 | 27 T30 504652] ZD05-26.0-XP32-SP07-02 | 135 | 60 | 221 | 26 SPMGO7T308 | M2.5x6 7300
504458] ZD04-27 5-XP32-5P07-02 | 115 | 60 | 201 [275 50 504654] ZD05-26.5-XP32-SP07-02 [137.5| 60 | 223 | 26.5 - 7300
04460| ZD04-28.0-XP32-SP09-02 | 117 | 60 | 203 | 28 0 504656 | ZD05-27.0-XP32-SP07-02 | 140 | 60 | 226 | 27 1300
04462] ZD04-28.5-XP32-5P09-02 | 119 | 60 | 205 [28.5 0 504658] ZD05-27.5-XP32-SP07-02 |142.5| 60 | 226 | 27.5 7300
04464] ZD04-29.0-XP32-5P09-02 | 121 | 60 | 207 | 29 0 504660] ZD05-28.0-XP32-SP09-02 | 145 | 60 | 231 | 28 7300
04466] ZD04-29.5-XP32-5P09-02 | 123 | 60 | 209 |29.5 0 504662 ZD05-28.5-XP32-5P09-02 |147.5| 60 | 233 | 285 7300
04468] ZD04-30.0-XP32-SP09-02 | 125 | 60 | 211 | 30 0 504664] ZD05-29.0-XP32-SP09-02 | 150 | 60 | 236 | 29 7300
04470] ZD04-30.5-XP32-5P09-02 | 127 | 60 | 213 |30.5 SPMG090408 | M3.5x8 5 504666] ZD05-29.5-XP32-SP09-02_|152.5| 60 | 238 | 29.5 7300
04472|7D04-31.0-XP32-5P09-02 | 129 | 60 | 215 | 31 : 1325 504668 ZD05-30.0-XP32-SP09-02 | 155 | 60 | 241 | 30 1300
5044741 7D04-31.5-XP32-5P09-02 | 131 | 60 |[217 {31.5 1325 504670] ZD05-30.5-XP32-5P09-02_[157.5| 60 | 243 | 305 SPMG090408 | M3.5x8 1450
504476 ZD04-32.0-XP32-5P09-02 | 133 | 60 219 | 32 | 5, 1325 504672 | ZD05-31.0-XP32-9P09-02 | 160 | 60 | 246 | 31 : 1450
50447817D04-32.5-XP32-5P09-02 } 135 | 60 | 221 132.5 T15[ 1325 504674] ZD05-31.5-XP32-5P09-02 [162.5| 60 | 248 | 315 | 37 7450
504480 7D04-33.0-XP32-5P09-02 | 137 | 60 | 223 | 33 25 504676 ZD05-32.0-XP32-5P09-02 | 165 | 60 | 251 | 32 1450
292 ZD04.-33.0.-XP32.5P00.02 1 139 | 60 1 225 1335 3 504678| ZD05-32.5-XP32-5P09-02 [167.5| 60 | 253 | 32.5 7450
04486 DU NSEXD oot pTE0 | 143 | 60 | 226 345 2 504680] ZD05-33.0-XP32-5P09-02 | 170 | 60 | 256 | 33 7450
02455 [IZD0A=S SI0RXPa o spAE0oll 145 T 60 | 251 | 35 2 504682] ZD05-33.5-XP32-SP09-02 [172.5| 60 | 258 | 33.5 1151450
04490] ZD04-35.5-XP32-SP11-02 | 147 | 60 233 [355 1475 504684] ZD05-34.0-XP32-SP11-02 | 175 | 60 | 261 | 34 7450
504492] ZD04-36.0-XP32-5P11-02 | 129 | 60 | 235 | 36 1475 504686] ZD05-34.5-XP32-SP11-02_|177.5| 60 | 263 | 34.5 7450
504494] ZD04-36.5-XP32-SP11-02 | 151 | 60 | 237 | 36.5 1475 504688| 7D05-35.0-XP32-SP11-02 | 180 | 60 | 266 | 35 1450
504496 ZD04-37.0-XP32-SP11-02 | 153 | 60 | 239 | 37 SPMG110408 | M4x10 1475 504690| ZD05-35.5-XP32-SP11-02 [182.5| 60 | 268 | 35.5 1600
504498| ZD04-37.5-XP32-SP11-02 | 155 | 60 | 241 |37.5 1475 504692 7D05-36.0-XP32-SP11-02 | 185 | 60 | 271 | 36 7600
504500] ZD04-38.0-XP32-SP11-02 | 157 | 60 | 243 | 38 1475 504694 ZD05-36.5-XP32-SP11-02 |187.5| 60 | 273 | 36.5 SPMG110408| M4x10 7600
504502] ZD04-38.5-XP32-SP11-02 | 159 | 60 | 245 | 38.5 1475 504696 | ZD05-37.0-XP32-5P11-02_| 190 | 60 | 276 | 37 1600
504504] ZD04-39.0-XP32-SP11-02 | 161 | 60 | 247 | 39 1475 504698 ZD05-37.5-XP32-5P11-02_|192.5| 60 | 278 | 37.5 7600
504506 | ZD04-39.5-XP32-SP11-02 | 163 60 | 249 |39.5 1475 504700| ZD05-38.0-XP32-SP11-02 | 195 60 | 281 38 1600
504508 | ZD04-40.0-XP32-SP11-02 | 165 | 60 | 251 | 40 1475 504702| ZD05-38.5-XP32-5P11-02 |197.5 | 60 | 283 | 38.5 1600
504510/ ZD04-41.0-XP32-5P14-02 | 169 | 60 [ 255 [ 41 [ 1700 504704 ZD05-39.0-XP32-5P11-02 | 200 | 60 | 284 | 39 71600
504512/ 7D04-42.0-XP32-SP14-02 | 173 | 60 | 259 | 42 1700 504706 ZD05-39.5-XP32-SP11-02 |202.5] 60 | 288 |39.5 1600
504514 ZD04-43.0-XP40-5P14-02 | 177 | 65 | 272 | 43 SPMG140512| M5x10 |T20| 1700 504708| ZD05-40.0-XP32-SP11-02 | 205 | 60 | 291 | 40 | 32 1600
504516] ZD04-44.0-XP40-SP14-02 | 181 | 65 | 276 | 44 1700 5047101 ZD05-41.0-XP32-5P12-02 | 210 | 60 | 206 | 41 1900
504518 ZD04-45.0-XP40-5P14-02 | 185 | 65 | 280 | 45 1700 504712] ZD05-42 0-XP32-5P14-02 | 215 | 60 | 301 | 42 SPMG140512 | M5x10 | T20r—gq0
504520| ZD04-46.0-XP40-SP14-02 189 65 284 46 1900 504714| ZD05-43.0-XP40-SP14-02 220 65 315 43 1900
504522] ZD04-47.0-XP40-SP14-02_| 193 | 65 | 288 | 47 7900 504716 [JZD0SAT0EXP40 SPIa=0 2R 225 | 65 | 320 | 44 1900
504524] ZD04-48.0-XP40-5P07-04 | 197 | 65 | 292 | 48 1900 504718 ZD05-25.0-xP40-5P14-02 | 230 | 65 | 325 | 25 1900
504526 [IZDOA49I0=XRAOSSROTE0AM 201 | 65 | 296 | 49 SPMG07T308 | M2.5x6 | T8 | 1900 504720 ZD05-46.0-XP40-5P14-02 | 235 | 65 | 330 | 46 2100
504528] ZD04-50.0-XP40-5P07-04 | 205 | 65 | 300 | 50 7900 504722 ZD05-47.0-XP40-SP14-02 | 240 | 65 | 335 | a7 3700
504530] ZD04-51.0-XP40-5P07-04 | 209 | 65 | 304 | 51 | 40 2150 504724] ZD05-48.0-XP40-5P07-04 | 245 | 65 | 340 | 48 3100
504532| ZD04-52.0-XP40-5P09-04 | 213 | 65 | 308 | 52 2150 504726 ZD05-49.0-XP40-SP07-04 | 250 | 65 | 345 | 49 3700
504534 ZD04-53.0-XP40-SP09-04 | 217 | 65 | 312 | 53 2150 504728] ZD05-50.0-XP40-SP07-04 | 255 | 65 | 350 | 50 SPMGO7T308 | M2.5x6 | T8 —>- 0
504536 [[ZDOAZSAI0XRA0ZSROOZ0AR]| 221 | 65 | 316 | 54 2150 504730| ZD05-51.0-XP40-5P07-04 | 260 | 65 | 355 | 51 | *© 2300
504538] ZD04-55.0-XP40-5P09-04 | 225 | 65 | 320 | 55 2150 504732 ZD05-52.0-XP40-SP09-04 | 265 | 65 | 360 | 52 300
:gjgjg ;ggjéggégjgé;gg'gj sgz g; ;ig ;s SPMG090408 | M3.5x8 |T15 gz;g 504734] 7D05-53.0-XP40-5P09-04 | 270 | 65 | 365 | 53 2300
Sosi o ssoxeissmai—t o576t s LAl e T S o
504546] ZD04-59.0-XP40-SP09-04 | 247 | 65 | 336 | 59 2375 50470 FZD0EESe X pA0TsFoaosl| 285 | 65 | 380 | 56 SPMG090408 | M3.5x8 | T15[ 2600
504548] ZD04-60.0-XP40-5P09-04 | 245 | 65 | 340 | 60 2375 504742 FZD0SES IO XPHoT P09 ol 200 | 65 | 385 | 57 2600
504744| ZD05-58.0-XP40-SP09-04 295 65 390 58 2600
504746] ZD05-59.0-XP40-SP09-04 | 300 | 65 | 395 | 59 2600
504748] 7D05-60.0-XP40-SP09-04 | 305 | 65 | 400 | 60 2600

Type Naming rules
ZD 03 30.0 xP 32 W C 05
| | | | | 1

Tool Type| |drawratio | Cutter diameter | Tool Type Tool shape| |Bladebackangle | Blade back angle
Code| Explain| |02, 03 14.0-60.0 | |Code| Explain Wi o cC 7 Code edge length

ZD| norerm | (04.05 16mm-58mm| x P| Flat dril S| O PLAT" o3 EY\é -S

04 | 4.3 -
Tool installation location 05 | 5.4 i
Dimension(mm) 06 | 6.5 | 6.35
25. 32. 40 08 | 8.7 | 8.0
09 - 9.925
12 - 12.7

abuey

WEB:http://www.mzg.tw KO8


http://www.mzg.tw

Carbide drill bit High speed steel spade drill rod

3*D Flanged Shank 3*D Morse Shank Spade Drill
| _/ EEAW
T~ . . ¢ =2 | @.:-_\:;\;ﬂﬁ%t_ m
Order Type Model L L1 | L2 D D1 |screw Wenh | Price Order Type Model L | L1 |L2 D D1 |[screw Wenh | Price
500100{SDT03-11.0-11.9-H-XP20 | 112 | 36 | 48 [ 11.0-11.9 | 20 |M1.8*45| T6 501100 SDS03-09.5-11.0-MT2 181] 36 | 80 | 9.5-11.0 |MT2 | M2*5 T6 | 7281
500102/ SDT03-12.0-12.9-H-XP20 | 116 | 39 | 48 | 12.0-12.9 | 20 | M2*5 | T6 501102] SDS03-11.1-12.9-MT2 [ 187 42 | 80 | 11.1-12.9 |[MT2| M2*5 | T6 |7281

501104 SDS03-13.0-15.0-MT2 193] 48 | 80 | 13.0-15.0 |[MT2 | M2.5%6 | T8 | 7281
501106] SDS03-15.1-17.5-MT2 200| 55 | 80 | 15.1-17.5 |[MT2 | M2.5*6 | T8 |7500

500104{SDT03-13.0-13.9-H-XP20 | 118 | 42 | 48 | 13.0-13.9 | 20 M2*5 T6

500106/SDT03-14.0-14.9-H-XP20 | 122 45 | 48 | 14.0-14.9 | 20 | M2*5 | 76 501108] SDS03-17.6-19.5-MT3 | 226| 61 | 99 | 17.6-19.5 | MT3 | M3*8 | TI0 | 8250
500108/SDT03-15.0-15.9-H-XP20 | 126 | 48 | 48 | 15.0-15.9 | 20 | M2*5 | T6 501110 SDS03-19.6-21.5-MT3 | 232| 67 | 99 | 19.6-21.5 | MT3 | M:3*8 | TI0 | 8250
500110/SDT03-16.0-16.9-H-XP20 | 130| 51 | 48 | 16.0-16.9 | 20 | M2.5%6 | T8 501112 SDS03-21.6-24.4-MT3 | 241 76 | 99 | 21.6-24.4 |MT3| M3*8 | T10 | 8250

501114] SDS03-24.5-26.5-MT4 284 | 82 | 124 | 24.5-26.5 | MT4 | M3.5*10 | T15 | 9156
501116] SDS03-26.6-28.5-MT4 290 | 88 | 124 | 26.6-28.5 | MT4 | M3.5*10 | T15 | 9156

500112(SDT03-17.0-17.9-H-XP20 | 134 | 54 | 48 [ 17.0-17.9 | 20 | M2.5*7 | T8

500114SBI03NSI0519:9-WaXR25H| 150 | 57 | 56 | 18.0-19.9 | 25 | M3'7.5 | T10 501118] SDS03-28.6-30.5-MT4 | 296 | 94 | 124 | 28.6-30.5 | MT4 | M3.5*10 | T15 | 9500
500116/SDT03-20.0-21.9-H-XP25 | 156 | 66 | 56 | 20.0-21.9 | 25 | M3*7.5 | T10 501120] SDS03-30.6-32.5-MT4 | 302100124 | 30.6-32.5 | MT4 | M3.5*10 [ T15 | 9500
500118[SDT03-22.0-23.9-H-XP25 | 162| 72 | 56 |22.0-23.9 | 25 | M3*9 |T10 501122] SDS03-32.6-34.9 MT4 | 309 107 | 124 | 32.6-34.9 | MT4 | M3.5*10 | T15 | 9500
500120|SDT03-24.0-25.9-H-XP25 | 168| 78 | 56 | 24.0-25.9 | 25 | M3*9 |T10 501124 SDS03-35.0-37.9-MT5 [ 360 11 | 156 | 35.0-37.9 | MT5 | M3.5*10 | T15 | 10594

501126| SDS03-38.0-40.9-MT5 369 | 125|156 | 38.0-40.9 | MT5 | M3.5*10 | T15 | 10594
501128| SDS03-41.0-43.9-MT5 3781341156 | 41.0-43.9 | MT5 | M3.5*10 | T15 | 11000

500122|SDT03-26.0-28.9-H-XP32 | 186 | 87 | 60 | 26.0-28.9 | 32 M4*10 | T15

500124/SDI03229°023/E9sWXRI2H) 195 | 96 | 60 | 29.0-31.9 | 32 | M4*10 | T15 501130 SDS03-44.0-47.9-MT5 | 390 | 146 | 156 | 44.0-47.9 | MT5 | M3.5*10 | T15 | 11469
500126/SDT03-32.0-35.0-H-XP32 | 205 | 105 | 60 | 32.0-35.0 | 32 | M4*10 |T15 501132 SDS03-48.0-51.9-MT5 | 402 | 158 | 156 | 48.0-51.9 | MT5 | M5*15 | T20 | 12031
- 501134 SDS03-52.0-55.9-MT5 | 414 | 170|156 | 52.0-55.9 | MT5 | M5*15 | T20 | 12656
*
5*D Flanged Shank Straight Flute HOlder 501136] SDS03-56.0-59.9-MT5 | 426 | 182 | 156 | 56.0-59.9 | MT5 | M5*15 | 720 | 13281
501138 SDS03-60.0-65.0-MT5 | 442 | 198|156 | 60.0-65.0 | Mt5 | M5*15 | 120 | 13875
—_— = | -
= i 5*D Morse Shank Spade Drill
wEER
=l (== |
Order Type Model L | L1 |L2 D D1 |screw Wenh | Price = | \

500200 SDT05-11.0-11.9-H-XP20 | 136 | 60 | 48 | 11.0-11.9 | 20 |M1.8*4.5| T6
500202 SDT05-12.0-12.9-H-XP20 | 142 | 65 | 48 | 12.0-12.9 | 20 M2*5 T6

500204| SDT05-13.0-13.9-H-XP20 | 146 | 70 | 48 [ 13.0-13.9 | 20 | M2*5 | T6 Order Type Model L2 D D1 |screw Wy | Price
501200| SDS05-09.5-11 0-MT2 203| 58 | 80 | 9.5-11.0 |MT2| M2*5 | T6 |8063

500206] SDT05-14.0-14.9-H-XP20 | 152 | 75 | 48 | 14.0-14.9 | 20 | M2*5 | T6

501202| SDS05-11.1-12.9-MT2 213] 68 | 80 | 11.1-12.9 [MT2| M2*5 | T6 |8063

500208)/SDT05-15.0-15.9-H-XP20/| 158 | 80 | 48 | 15.0-15.9 | 20 | M2*5 | T6 501204] SDS05-13.0-15.0-MT2 | 223 | 78 | 80 | 13.0-15.0 |[MT2 | M2.5*6 | T8 | 8063
500210 SDT05-16.0-16.9-H-XP20 | 164 | 85 | 48 | 16.0-16.9 | 20 | M2.5%6 | T8 501206] SDS05-15.1-17.5-MT2 | 235| 90 | 80 | 15.1-17.5 | MT2 | M2.5%6 | T8 |8313
500212| SDT05-17.0-17.9-H-XP20 | 170| 90 | 48 | 17.0-17.9 | 20 | M2.5*7 | T8 501208 SDS05-17.6-19.5-MT3 | 265|100 99 | 17.6-19.5 |[MT3| M3*8 | T10 | 9094
50021 BB oeXTSToX YYo= 190 | 100 | 56 | 18.0-19.9 | 25 | M375 |10 501210 SDS05-19.6-21.5-MT3 | 275|110 99 | 19.6-21.5 | MT3| M3*8 | T10 | 9094

501212 SDS05-21.6-24 4-MT3 290 125] 99 | 21.6-24.4 |MT3| M3*8 |T10 | 9094
501214 SDS05-24.5-26.5-MT4 3371 135|124 | 24.5-26.5 | MT4 | M3.5*10 | T15 | 10031

500216/ SDT05-20.0-21.9-H-XP25 | 200 | 110 | 56 | 20.0-21.9 | 25 | M3*7.5 | T10

500218 SDT05-22.0-23.9-H-XP25 | 210 | 120| 56 | 22.0-23.9 | 25 | M3*9 |T10 501216 SDS05-26.6-28.5-MT4 347 145]124 ] 26.6-28.5 | MT4 | M3.5*10 | T15 | 10031
500220| SDT05-24.0-25.9-H-XP25 | 220 | 130 | 56 | 24.0-25.9 | 25 | M3*9 |T10 501218] SDS05-28.6-30.5-MT4 | 357 | 155] 124 | 28.6-30.5 | MT4 | M3.5*10 | T15 | 10438
500222 SDT05-26.0-28.9-H-XP32 | 245 | 145 | 60 | 26.0-28.9 | 32 | M4*10 |T15 501220 SDS05-30.6-32.5-MT4 | 367 | 165] 124 | 30.6-32.5 | MT4 | M3.5*10 | T15 | 10438

501222| SDS05-32.6-34.9-MT4 380178124 | 32.6-34.9 | MT4 | M3.5*10 | T15 | 10438
501224| SDS05-35.0-37.9-MT5 436|192 156 | 35.0-37.9 | MT5 | M3.5%10 | T15 | 11594
501226| SDS05-38.0-40.9-MT5 452|208 156 | 38.0-40.9 | MT5 | M3.5*10 | T15 | 11594

7*D Flanged Shank Stralght Flute HOlder 501228| SDS05-41.0-43.9-MT5 566 | 222|156 | 41.0-43.9 | MT5 | M3.5*10 | T15 | 12063
501230| SDS05-44.0-47.9-MT5 486 | 242 | 156 | 44.0-47.9 | MT5 | M3.5*10 | T15 | 12625

500224) SDT05-29.0-31.9-H-XP32 | 259 | 160 | 60 | 29.0-31.9 | 32 M4*10 | T15
500226 SDT05-32.0-35.0-H-XP32 | 275 | 175| 60 | 32.0-35.0 | 32 M4*10 | T15

—ffl—— 501232 SDS05-48.0-51.9-MT5 506 | 262|156 | 48.0-51.9 | MT5 | M5*15 | T20 | 13281
m : ||“|1—| 501234| SDS05-52.0-55.9-MT5 526 | 282|156 | 52.0-55.9 | MT5| M5*15 | T20 | 13969
501236| SDS05-56.0-59.9-MT5 546 | 302 | 156 | 56.0-59.9 | MT5 | M5*15 |T20 | 14688
501238| SDS05 60.0-65.0 MT5 5721328]156 | 60.0-65.0 | MT5 | M5*15 | T20 | 15406
% .
Order Type Model L L1 | L2 D D1 |[screw Wenh | Price 7*D Morse ShankSPade Drill
500300 SDT07-11.0-11.9-H-XP20 | 160 | 84 | 48 | 11.0-11.9 | 20 |M1.8*4.5| T6
— & B
500302 SDT07-12.0-12.9-H-XP20 | 168 | 91 | 48 | 12.0-12.9 | 20 M2*5 T6 C v“#: — S —

500304( SDT07-13.0-13.9-H-XP20 | 174 | 98 | 48 | 13.0-13.9 | 20 M2*5 T6
500306 SDT07-14.0-14.9-H-XP20 | 182 | 105| 48 | 14.0-14.9 | 20 M2*5 T6
500308| SDT07-15.0-15.9-H-XP20 | 190 | 112 | 48 | 15.0-15.9 | 20 M2*5 T6

Order Type Model L | L1 ]2 D D1 | screw Wench | Price
500310 SDT07-16.0-16.9-H-XP20 | 198 | 119 | 48 | 16.0-16.9 | 20 M2.5%6 | T8 501300| SDS07-09.5-11.0-MT2 225| 80 | 80 | 9.5-11.0 | Mt2 M2%5 T6 | 9625
500312| SDT07-17.0-17.9-H-XP20 | 206 | 126 | 48 | 17.0-17.9 | 20 | M2.5*7 | T8 501302 SDS07-11.1-12.9-MT2 238] 93 [ 80 [11.1-12.9 [MT2]| M2*5 [ T6 |9625
500314| SDT07-18.0-19.9-H-XP25 | 230 | 140 | 56 | 18.0-19.9 | 25 M3*7.5 | TIO 501304 SDS07-13.0-15.0-MT2 253|108 | 80 | 13.0-15.0 | MT2 | M2.5*6 | T8 |9625
500316 SDT07-20.0-21.9-H-XP25 | 244 | 154 56 | 20.0-21.9 | 25 | M3*7.5 | TIo 501306] SDS07-15.1-17.5-MT2__ | 270 125] 80 | 15.1-17.5 | MT2 | M2.5*6 | T8 | 9906

501308| SDS07-17.6-19.5-MT3 304|139] 99 | 17.6-19.5 |[MT3 | M3*8 | TI0O | 10750
501310| SDS07-19.6-21.5-MT3 318 153] 99 | 19.6-21.5 |[MT3 | M:3*8 | TIO | 10750

500318| SDT07-22.0-23.9-H-XP25 | 258 | 168 | 56 | 22.0-23.9 | 25 M3*9 | TIO

5003201SBI07=24°0-2592H-XRR5]| 272 | 182 | 56 | 24.0-25.9 | 25 | M3+9 | TI0 501312| SDS07-21.6-24.4-MT3 | 338 173| 99 | 21.6-24.4 |[MT3 | M3*8 | T10 | 10750
500322| SDT07-26.0-28.9-H-XP32 | 303 | 203 | 60 | 26.0-28.9 | 32 | M4*10 |T15 501314 SDS07-24.5-26.5-MT4 [ 390 188 124 | 24.5-26.5 [ MT4 | M3.5*10 | T15 [ 11750
500324( SDT07-29.0-31.9-H-XP32 | 323 | 224 | 60 | 29.0-31.9 | 32 | M4*10 |[T15 501316| SDS07-26.6-28.5-MT4 404 | 202 | 124 | 26.6-28.5 | MT4 | M3.5*%10 | T15 | 11750

501318] SDS07-28.6-30.5-MT4 | 418 216 | 124 | 28.6-30.5 | MT4 | M3.510 | T15 | 12281
501320] SDS07-30.6-32.5-MT4 | 432|230 124 | 30.6-32.5 | MT4 | M3.5510 | T15 | 12281
L ¢ il 501322| SDS07-32.6-34.9 MT4 449247124 [32.6-34.9 |MT4 | M3.5*10 | T15 | 12281
Tips: Using of spade dri 501324 SDS07-35.0-37.9-MT5 | 512 | 268 | 156 | 35.0-37.9 | MT5 | M3.5%10 | T15 | 13500
1.spade drill. an upgraded replacement product of traditional twist 501326] SDS07-38.0-40.9-MT5 533 289|156 | 38.0-40.9 | MT5 | M3.5%10 | T15 | 13500
. . . . 501328] SDS07-41.0-43.9-MT5 | 554 | 310|156 | 41.0-43.9 | MT5 | M3.5*10 | T15 | 14094
drill, can be applied to CNC and a variety of conventional 501330] SDS07-44.0-47.9-MT5 | 582 338 156 | 44.0-47.9 | MT5 | M3.5510 | T15 | 14781
equipment. such as vertical drill. radial drill etc 501332 SDS07-48.0-51.9-MT5 610[ 366|156 | 48.0-51.9 [MT5| M5*15 |T20 | 15594
: ap : : : 501334] SDS07-52.0-55.9-MT5 | 638 | 394|156 | 52.0-55.9 | MT5 | M5*15 | T20 | 16469
2.The materlalofsp.adednllmsertsmcIudecarbldAeand HSS, which 07336 <D20726.0-29 9 T2 cee 422 (126 [260-29°9 [MTe | M e71e [T20 (17348
are mounted on different holder and can not be interchanged. 501338] SDS07-60.0-65.0-MT5 702 458156 | 60.0-65.0 |[MT5 | M5*15 | T20 | 18250
3.Recmmandation of HSS inserts for vertical drilland radial dr... . carbide inserts are likely to cause jump edge
due to Tow speed. poor rigidity and large gap.
4.All spade dr...holders have center water hole with reconmendation of higtrpressure and high-flow coolant.which
will greatly extend insert life and accelerate chip evacuation.
5.All inserts and designed for chip breaker and the out of tho filing are small debris
6.spade dr...inserts with self-centering. double synmetric uniform stress are suitable for deep hole drilling. The length to diameter
ratio within 5*D.we suggest preferred shallow hole drJl|(u drill) for saving tool costMore than 5*D we recommend spade drill

7.under enough coolant pressure and flow.and smooth chip evacuation, spade drill can be used for one shot drilling.

500326| SDT07-32.0-35.0-H-XP32 | 345 | 245| 60 | 32.0-35.0 | 32 M4*10 | T15

K09 WEB:http://www.mzg.tw


http://www.mzg.tw

Abandon Type Drill

High speed steel spade drill rod
3*D Flanged Shank Spade Drill DI’I” blade SpeCIflcathn

sl -
s ) = Carbide linsert w
) ! ; — I
—u) o p— | = T
E —7—--\\' _Eﬂ),_i l 11.00-G12-A [11.50-G12-A |1200-G12-A [1250-G12-A |13.00-G12-A [1350-G12-A | 140-G12-A  |14.50-G12-A [1500-G12-A
—_— A

1550-G12-A  |16.00-G12-A  |16.50-G12-A [17.00-G12-A |17.50-G12-A [18.00-G12-A | 18.5-A12-A  |[19.00-G12-A |19.50-G12-A
20.00-G12-A |20.50-G12-A  |21.00-G12-A |21.50-G12-A |22.00-G12-A |2250-G12-A | 23.0-G12-A |23.50-G12-A | 24.00-G12-A
2450-G12-A  |25.00-G12-A |25.50-G12-A |26.00-G12-A |26.50-G12-A |27.00-G12-A | 27.5-G12-A  |28.00-G12-A |28.50-G12-A
29.00-G12-A  |29.50-G12-A |30.00-G12-A |30.50-G12-A |31.00-G12-A |31.50-G12-A | 32.0-G12-A |32.50-G12-A [33.00-G12-A

Order Type Model L | L1]L2 D D1 | screw Vet | Price 3350-G12-A_|3400-G12-A |3450-612-A |35.00-G12-A

502100 SDS03-09.5-110-P20 106 | 36 | 48 9.5-11.0 20 M2*5 T6 | 5375

502104 SDS03-11.1-12.9-P20 | 112 42 | 48 [11.1-129 | 20 | M2*5 | T6 5375 |  pccinsert e

502104 SDS03-13.0-15.0-P20 118| 48 | 48 | 13.0-15.0 | 20 | M2.5*6 | T8 | 5375 900-M42-A | 950-M42-A | 1000-M42-A | 1050-M42-A | 11.50-M42-A | 11.50-MA2-A | 12.00-MA2-A | 12.50-Ma2-A | 13.00-Ma2-A
502106 SDS03-15.1-17.5-P20 125| 55 | 48 | 15.1-17.5 | 20 | M2.5*6 | T8 | 5563 13.50-MAZ-A | 14.00-MA2-A | 1450-M42-A | 1500-M42-A | 15.50-M42-A | 16.00-MA2-A | 16,50-MA2-A | 17.00-MA2-A | 17.50-Ma2-A
50210§ SDS03-17.6-19.5-P25 140 | 61 | 56 | 17.6-19.5 | 25 M3*8 | T10 | 5781 18.00-M42-A | 18.50-M42-A | 19.00-M42-A | 19.50-M42-A | 20.00-M42-A | 20.50-M42-A | 21.00-M42-A | 21.50-M42-A | 22.00-M42-A
502110 SDS03-19.6-21.5-P25 146 | 67 | 56 | 19.6-21.5 | 25 | M3*8 |T10 | 5781 22.50-MA2-A | 22.50-M42-A | 23.50-MA2-A | 24.00-MA2-A | 2450-MA2-A | 25.00-MA2-A | 2550-M42-A | 26.00-M42-A | 26,50-Ma2-A
502114 SDS03-21.6-24 4-P25 1551 76 156 (216244 | 25 | M3 |T10 | 5781 27.00-M42-A | 27.00-M42-A | 28.00-M42-A | 28.50-M42-A | 2000-MA2-A | 29.50-M42-A | 3000-M42-A | 3050-M42-A | 31.00-Ma2-A

31.50-M42-A | 31.50-M42-A | 32.50-M42-A | 33.00-M42-A | 33.50-M42-A | 34.00-M42-A | 34.50-M42-A | 35.00-M42-A | 35.50-M42-A

502114 SDS03-24.5-26.5-P32 170 | 82 | 60 | 24.5-26.5 | 32 | M3.510 | T15 | 5969 36.00-M42-A | 36.00-M42-A | 37.00-M42-A | 37.50-M42-A | 38.00-M42-A | 3850-M42-A | 39.00-M42-A | 3950-M42-A | 40.00-M42-A

502116 SDS03-26.6-28.5-P32 176 | 88 | 60 | 26.6-28.5 | 32 | M3.5*10 | T15 | 5969 4050-M42-A | 40.50-M42-A | 41.50-M42-A | 42.00-M42-A | 4250-M42-A | 4300-M42-A | 4350-M42-A | 44.00-M42-A | 4450-M42-A

502118 SDS03-28.6-30.5-P32 182 | 94 | 60 | 28.6-30.5 | 32 | M3.5*10 | T15 | 6313 45.00-M42-A | 4500-M42-A | 46.00-M42-A | 46.50-M42-A | 47.00-M42-A | 47.50-M42-A | 4800-M42-A | 48.50-M42-A | 49.00-M42-A

502120 SDS03-30.6-32.5-P32 188 | 100 60 30.6-32.5 32 M3.5*10 | T15 6313 49.50-M42-A | 49.50-M42-A | 50.50-M42-A | 51.00-M42-A | 51.50-M42-A | 52.00-M42-A | 52.50-M42-A | 53.00-M42-A | 53.50-M42-A
P 54,00-M42-A | 5400-M42-A | 55.00-M42-A | 5550-M42-A | 56.00-M42-A | 56.50-M42-A | 57.00-M42-A | 57.50-M42-A | 58.00-M42-A

502122 SDS03-32.6-34.9-P32 195107 | 60 | 32.6-34.9 | 32 | M3.510 | T15 | 6313 58.50-M42-A | 5850-M42-A | 59.50-M42-A | 60.00-M42-A | 60.50-M42-A | 61.00-M42-A | 62.50-M42-A | 63.00-M42-A | 6350-M42-A

502124 SDS03-35.0-37.9-P32 | 206 | 116 60 | 35.0-37.9 | 32 | M3.5%10 | T15 | 6656 400428 | 6400 M2 | 65 00.Me2A

502124 SDS03-38.0-40.9-P32 | 215|125| 60 | 38.0-40.9 | 32 | M3.510 | T15 | 6656 The RegulatioN 0f Insert named Insert Material

502128 SDS03-41.0-43.9-P40 232134 | 65 | 41.0-43.9 | 40 | M3.5%*10 | T15 | 7094

502130 SDS03-44.0-47.9-P40 244 1 146| 65 | 44.0-47.9 | 40 | M3.5*10 | T15 | 7563 11.00 — G12 — A WITHOUT

502132 SDS03-48.0-51.9-P40 256 | 158 | 65 | 48.0-51.9 | 40 M5*15 | T20 | 8125 N-NonE — —

502134 SDS03-52.0-55.9-P40 | 268 | 170| 65 | 52.0-55.9 | 40 | M5*15 | T20 | 8719 T-TIN Titanium nitride

502136 SDS03-56.0-59.9-PA0 | 280 | 182 | 65 | 56.0-59.9 | 40 | M5*15 | 120 | 9344 tnsertdimensio C-TIALN Titanium carbonitride

11.00- Insert Material | | Insert COating A-TIALN Tialn
502138 SDS03 60.0-65.0-P40 296|198 | 65 | 60.0-65.0 | 40 M5*15 | T20 | 9969 Range 35.00

5*D Flanged Shank Spade Drill Insert Material

,‘ = __ - = i M4-HSS M4 high speed steel M4
E. et I ‘ | M42-HSS M42 Highspeed steel cobalt 8%
— N iﬂ u $40-5KH40 Fowde i
- owder metallurgy high steel
[ i g 7 G12-G12xF Carbide
the RegulatiON 0f Spade Drill HOlder named
S — 13.0-13.9 —  xP — 20
Order Type Model L L1|L2 D D1 | screw Wrench Price T T
502200 SDS05-09.5-110-P20 | 128 58 | 48 | 9.5-11.0 | 20 | M2*5 | T6 |6156 Type NO. "oy " | |Cutter diameter Type Tool installation
502202 SDS05-11.1-12.9-P20 138 | 68 | 48 | 11.1-12.9 | 20 M2*5 T6 |6156 spade S[TWO 03. 05. Range| 13.0mm Code| Explain dimension ( mm)
502204 SDS05-13.0-15.0-P20 148 | 78 | 48 | 13.0-15.0 | 20 | M2.5*6 | T8 |6156 SD [arins T‘ THREE 07 -13.9mm ><P‘ Flat drill 20, 25, 32

502206 SDS05-15.1-17.5-P20 160 | 90 | 48 | 15.1-17.5 | 20 | M2.5*6 | T8 |6406
502208 SDS05-17.6-19.5-P25 1791100| 56 | 17.6-19.5 | 25 M3*8 | T10 |6625
502210 SDS05-19.6-21.5-P25 189 |110| 56 | 19.6-21.5 | 25 M3*8 | T10 |6625
502212 SDS05-21.6-24 4-P25 204 125| 56 | 21.6-24.4 | 25 M3*8 | T10 |6625
502214 SDS05-24.5-26.5-P32 223|135| 60 | 24.5-26.5 | 32 | M3.5*10 | T15 |6875
502216 SDS05-26.6-28.5-P32 233|145 60 | 26.6-28.5 | 32 | M3.5*10 | T15 |6875
50221§ SDS05-28.6-30.5-P32 2431 155| 60 | 28.6-30.5 | 32 | M3.5*10 | T15 |7281
502220 SDS05-30.6-32.5-P32 253|165| 60 | 30.6-32.5 | 32 | M3.5*10 | T15 |7281
502222 SDS05-32.6-34.9-P32 266|178 | 60 | 32.6-34.9 | 32 | M3.5*10 | T15 |7281
502224 SDS05-35.0-37.9-P32 282|192| 60 |35.0-37.9 | 32 | M3.5*10 | T15 |7656
502226 SDS05-38.0-40.9-P32 298|208 | 60 | 38.0-40.9 | 32 | M3.5*10 | T15 |7656
502228 SDS05-41.0-43.9-P40 320|222| 65 | 41.0-43.9 | 40 | M3.5*10 | T15 |8156
502230 SDS05-44.0-47.9-P40 332|242| 65 | 44.0-47.9 | 40 | M3.5*10 | T15 |8688
502232 SDS05-48.0-51.9-P40 352|262 | 65 | 48.0-51.9 | 40 M5*15 | T20 |9344
502234 SDS05-52.0-55.9-P40 372|282 65 | 52.0-55.9 | 40 M5*15 | T20 |10031
502236 SDS05-56.0-59.9-P40 392|302 65 | 56.0-59.9 | 40 M5*15 | T20 |10750
50223§ SDSO05 60.0-65.0-P40 426 | 328 | 65 | 60.0-65.0 | 40 M5*15 | T20 |11469

7*D Flanged Shank Spade Drill

Order Type Model L | L1]L2 D D1 | screw Wier | Price
502300 SDS07-09.5-110-P20 150 | 80 | 48 | 9.5-11.0 | 20 M2*5 T6 |7688
502302 SDS07-11.1-12.9-P20 163 | 93 | 48 | 11.1-129 | 20 M2*5 T6 |7688
502304 SDS07-13.0-15.0-P20 178|108 | 48 | 13.0-15.0 | 20 | M2.5*6 | T8 |7688
502306 SDS07-15.1-17.5-P20 195]125| 48 | 15.1-17.5 | 20 | M2.5*6 | T8 |7969
502308 SDS07-17.6-19.5-P25 218|139 56 | 17.6-19.5 | 25 M3*8 | T10 |8281
502310 SDS07-19.6-21.5-P25 232|153 | 56 | 19.6-21.5 | 25 M3*8 | T10 |8281
502312 SDS07-21.6-24 4-P25 252|173 | 56 | 21.6-24.4 | 25 M3*8 | T10 |8281
502314 SDS07-24.5-26.5-P32 276|188 | 60 | 24.5-26.5 | 32 | M3.5*10 | T15 |8594
502316 SDS07-26.6-28.5-P32 290|202 | 60 | 26.6-28.5 | 32 | M3.5*10 | T15 |8594
502318 SDS07-28.6-30.5-P32 304|216 | 60 | 28.6-30.5 | 32 | M3.5*10 | T15 |9094
502320 SDS07-30.6-32.5-P32 318|230 60 | 30.6-32.5 | 32 | M3.5*10 | T15 |9094
502322 SDS07-32.6-34.9-P32 335|247 | 60 | 32.6-34.9 | 32 | M3.5*10 | T15 |9094
502324 SDS07-35.0-37.9-P32 358|268 | 60 | 35.0-37.9 | 32 | M3.5*10 | T15 |9594
502326 SDS07-38.0-40.9-P32 379|289 | 60 | 38.0-40.9 | 32 | M3.5*10 | T15 |9594
502328 SDS07-41.0-43.9-P40 408 | 310 | 65 | 41.0-43.9 | 40 | M3.5*10 | T15 |10188
502330 SDS07-44.0-47.9-P40 436 | 338 | 65 | 44.0-47.9 | 40 | M3.5*10 | T15 |10875
502332 SDS07-48.0-51.9-P40 364|366 | 65 | 48.0-51.9 | 40 M5*15 | T20 |11688
502334 SDS07-52.0-55.9-P40 4921394 | 65 | 52.0-55.9 | 40 M5*15 | T20 |12531
502336 SDS07-56.0-59.9-P40 520|422 | 65 | 56.0-59.9 | 40 M5*15 | T20 |13438
50233§ SDS07 60.0-65.0-P40 556 | 458 | 65 | 60.0-65.0 | 40 M5*15 | T20 |14344

WEB:http://www.mzg.tw K10


http://www.mzg.tw

Multifunctional drill pipe

K11

Multi ional seri Oil handle
ultifunctional series products | ;c¢py
Drilling o o L
End Face And
+The insert turning, drilling, using a cutting tool / ::::v‘:;ca\ ’
+The save installation time. Shorten the time 7’
+We reduce the cutting tool cost saving effect / Boring
TOPCAP 7 - e s Tirwopemee
— .
Drilling
Order Type d L C D |LO | L1 H | L3 | Price
505400 BT40-OSL32-155 32 | 155| 60/65 | 53 |90 50 60 15 15
; 505404 BT40-OSL40-155 40 | 155] 60/65 | 70 | 90 50 70 19 18
(' —— 505404 BT50-0SL32-160 | 32 | 160| 80/82 | 54 [100 | 50 | 60 | 15 | 15
Boring 505406 BT50-OSL40-160 40 | 160] 80/82 | 64 [100 | 50 70 19 18
Add application s ;
Spindieend ™, : 1
( =8 Wy J o)
— e o o .
End Face Turning =
) o waterp
Grooving —de__ Moo L
(. ’ . iindricalm Installation diagram Schematic diagram of
Jindrica Torning
of Morse handle BT handle installation
ypical g Morse switch _ ‘
Y Large spiral groove s easy to row ili =
< Q}‘ There is a row of smooth groove &af 1 v
The two blades are designed for drilling and turning -8 @ ] |
Drilling™ The cutting edge of the cutting edge of the large helix angle reduces cutting force - 1 ol
Small feed, small cutting depth is smooth — = ol
- | P a| #=r J Order Type D D1 L L1 Price
[ | |- NI = — 505500 DIN228-B-32-MTA4 32 64 204 124 [ 1438
™ | 505502 DIN228-B-40-MTA4 40 64 204 124 [ 1438
505504 DIN228-B-32-MTA5 32 64 204 156 | 1563
) ) - 505506  DIN228-B-40-MTA5 40 64 204 156 | 1563
Order Type Model | D | d | L1| L (Applicabletoinsert screw | Wrench| Price 505508  DIN228-B-32-MTA6 32 64 303 218 | 1875
505100] TCAP-08R/L-3.0DN 8 | 12 | 24 | 75 | XCMT040104 | M1.8x3.5 T6 | 1875 505510 DIN228-B-40-MTA6 40 64 303 218 | 1875
505102] TCAP-09R/L-3.0DN 9 | 12 | 27 | 83 | xCMT050204 M2x5 T6 | 1875 0551 DIN228-B-50-MTA6 50 74 303 218 12188
505104 TCAP-T0R/L-3.0DN | 10 | 12 | 30 | 85 | XCMTO050204 M2x5 T6 | 1875 —
505106] TCAP-11R/L-3.0DN | 11 | 16 | 33 | 92 | XCMTO060204 M2.2x5 T6 | 1875
505108] TCAP-12R/L-3.0DN | 12 | 16 | 36 | 95 | XCMTO060204 M2.2x5 T6 | 1875 I
505110] TCAP-13R/L-3.0DN | 13 | 16 | 39 | 100 | XCMTO070304 | M25x65 | T8 | 1875
505112| TCAP-14R/L-3.0DN__| 14 | 16 | 42 | 101 | XCMTO070304 | M25x65 | T8 | 1875
505114] TCAP-08R/L-2.25DN | 8 | 12 | 18 | 69 | XCMT040104 | M1.8x35 | T6 | 1675 ;i
505116] TCAP-09R/L-2.25DN | 9 | 12 | 205| 76 | XCMTO050204 M2x5 T6 | 1875 i
505718) TCAP-10R/L-2.25DN | 10 | 12 | 22.5| 78 | XCMTO050204 M2x5 T6 | 1875 -
505120 TCAP-11R/L-2.25DN | 11 | 16 | 25 | 84 | XCMT 060204 M2.2x5 T6 | 1875 Order Type D D1 | D2 L L1 L2 L3 | Price
505722| TCAP-12R/L-225DN | 12 | 16 | 27 | 86 | XCMT 060204 M2.2x5 T6 | 1875 505609 MTS-YLDB-32 32 55 92 127 | 15 18 60 | 5000
505724) TCAP-13R/L-225DN | 13 | 16 | 29.5] 91 | XCMT070304 | M25x65 T8 | 1875 505602 MT5-YLDB-40 40 60 98 127 | 15 18 65 15313
505126 TCAP-14R/L-225DN | 14 | 16 | 315 91 | XCMTO070304 | M2.5x65 T8 | 1875 505604 MT6-YLDB-32 32 55 92 127 | 15 18 60 | 5625
50560 MT6-YLDB-40 40 60 98 127 15 18 65 5625
Reducer claave 505608  MT6-YI DB-50 50 70 | 108 [ 127 [ 15 18 70 [ 5938
14
u Composite tool success case
Pt
—3 ! Product Drawings Instruction
o ‘ | Three process,boring,
t . chamfer,counterbore
I : concentrates in one tool.
Dimension(mm) L
Order Price
Type D DI_| D2 L ] .
505200 BJT-322062 20 49 32 62 5 500 -
505202 BJT-322562 25 49 32 62 5 500 . - ¥ After boring,through clamp
505204 BJT-402065 20 58 40 65 6 625 m y | finishing boring to ensure
505204 BJT-402565 25 58 40 65 6 625 — L] dimensional accuracy.
505204 BJT-403265 32 58 40 65 6 625
505210 BJT-502572 25 65 50 70 6 750 i miooes
505212 BJT-503272 32 65 50 70 6 | 750 Optimizing nsert angle o play
505214 BJT-504072 40 65 50 70 6 750 . overlay board,then clamp
finishing boring dimension.
Eccentric sleeve L
/ P . e
/ Hoe H Efficiently and conveniently
I ] i 4 boring,chamfer,spot facing.
— i : With Morse shank,and work in
i e vertical drill, tailstock,etc..
=) = = & i
3 2l
'y
! Wind b b dedi
, ; ind power bearing bore dedicate
ora Dimension(mm) Diameter | Centerheight | 5\ — 5 holderspecial chip.breaker,
4] TYP® [DT[@D2]@D | L | L1 L2 [L3 fpeivstmentrangeladjustment rangy *"® ——— ' e piheg dosngisinie
505300 2025-43 | 20 | 25 |41 | 47 | 6 | 11|33 | +04-02 | +0.2-0.15 | 1250 R HB230.S1000,F200)ow spsed.high
ecd,low wear high efficienc
505303 2532-48 | 25 | 32 | 49 | 60 6 11 ] 45 +0.4-0.2 +0.2-0.15 1250 ? Y
505304 3240-53 | 32 | 40 | 58 | 65 6 11 ] 50 +0.4-02 +0.2-0.15 1563
5053064 4050-63 | 40 | 50 | 68 | 76 6 11 ] 61 +0.6-0.2 +0.2-0.2 1750 ~

Fixed seat

Dedicated boring for yacht FRP,
Special material,designed in
double blow,product dimension
for stability,no deformation.

Modular structure match twish drill
to the problem of compound tool of
keyhole

* Note: all composite tools are used in actual production.

WEB:http://www.mzg.tw



http://www.mzg.tw

Abandon Type Drill

Insert holder VMD indexable inserts greatly improve processing efficiency

/

o S T
. & (v,&p "

S
L]
order| Type Internal Edge |External Edge Insert Edge Screw |wench| Pprice Process | Technological procesgspeed feed processingtimelLong timel
5, 0] 45- VNC-045050N VMC-045050T 5 \ ©960 Steel Dril 80 16 1 our 10 i
506102 |_50- VNC-050055N__|_VMc-0500s5T | WC-030204 | 2 | TSB-22045 | T6 s traditional | @Roughbering el 200 30 40wmwe |150minue
4] 55- VNC-055060n VMC-055060T | WC.040204 | 2 | TSB-25055 5 process SRough boring tool 2 300 30 40mmae
g x E:ggg ? x g g g (5) We.050308 | 2 Ts8-30070 | T10 g New proces{ _ VMD Drilling 9105 280 45 18 Minute | 18 Minute
7057 VNC-07007 VMC-070075 5 Drilling Speed Processing 105m hole depth 550mm. material 42Crmo, HB 220
75-8 VNC-07508 VMC-075080 3
80-85 VNC-080085| VMC-080085 | 1563 | Vex1000 Vc=Linear velocity 100m/min
506116 | 85-90 VNC-085090N VMC-085090T | WC..06T308 | 2 | TSB-35090 | T15 [ 1563 S=—o ez Drill diamoter
506118 | 90-95 VNC-090095N VMC-090095T 1563 S=Spindle speed
506120 | 95-100 VNC-095100N VMC-095100T 1875 Example: Taking the diameter of drill bit ¢100mm as an example.
506122 | 100-105 VNC-100105N VMC-100105T | WC.050308 | 3 | TSB-30070 | T10 | 1875 10021000
506124 | 105-110 VNC-105110N VMC-105110T 1875 S= S1ar100 =318rev/min
506126 | 110-115 VNC-110115N VMC-110115T 1875 :
506128 | 115-120 VNC-115120n VMC-115120T 1875
506130 | 120-125 VNC-120125N VMC-120125T | WC..06T308 | 3 | TSB-35090 7875 Feeding speed
506132 | 125-130 VNC-125130N VMC-125130T 1875
506134 | 130-135 VNC-130135N VMC-130135T T15 [1875 Vf=Feeding speed
506136 | 135-140 VNC-135140N VMC-135140T 2500 Vf=Frxs Fr=Feed per revolution
506138 | 140-150 VNC-140150N VMC-140750T 2500 S=Spindle speed
506140 | 150-160 VNC-150160N VMC-150160T 2500
2otz Fizo0 TNCTE0T 70N TMCTeoTo0r—| WC.080408 | 3 | TSB-40110 e Bxample; Taking the diameterof dril it 100mm 35 an example . Feed perrevolution
506144 | 170-180 VNC-170780N VMC-170780T 3125 mm/rev.

Vf=0.15x318=47.7mm/min

VM D DI"I”Ing Hole processing time

= I s Te=—tx60  Tc(s)=Processing time
N = 3 Vf H=The depth of processing hole
T [ & { Example: the diameter of the drill bit 100, for example, the hole processing depth of 100mm.
- B i
. 5 ) 100x60
¥ ’ Tes— o =126(s)
3 >
N
- -2 - I
Order| Type Guide drill D2 Applicable blade| Screw [Wend{ Price L. .
_p D Ds|D1 — L1jL Toolrholder ‘ - Machining@105m depth 550mm, material 42Crmo,HB220
506200 | VMD-045050 PLS-T035 [UMC-045050N/T Ly 17030208 o
¥ -822823 16|30 _TiN-H |60 |95 %,E:gggggg WeRTOIE TSB-25055 1 ; ;g In the oil,coal and other machine industries,as oversize hole machining becomes more and more
VMD-060065 PLS-1238 VMC-060065N/T |\ \i1050308| T58-30070| | —LB825 common,the application ofVMD indexable drill can greatly improve the machining efficiency.
VMDZ00307 25 |ag | TNH R a 82321 The bright spot ofYMD indexable drill:
VMD-0750 ["VMC-075080N/T | 9500 | . . - . .
MEE oLS.1645 vt (| WCMTO6T308| T58-35090T15 5008 1 Using th.e structure of center guide drill with better centering effect to make sure hole site a
VMD-0850 30050 TiN-H [VMC- /T | 62 good straightness.
5 283 %* T 77£7 2 Internal and External cutter edge is applied to the structure of replaceable clamp tool.In
VMD=10010 32|58 |pLs-2045 {/T | WCMT050308 TSE-30070) T8 62 practical using,the most vulnerable is external edge clamp.Replacing clamp can avoid the drill
0 VMD-110115 TiN-H C-1101 4 scrapped to save the tool cost.
8 WB:TS 2 20170 104 E: } wonTosT308 Tsa-35000 8 3 Adjusting external clamp,the dimension of drill machining can vary within 0-5 mm.
8 2 D121 g Mg 13T 4 Cutter head and shank are modular structure.Only change different length shank during
06236 | VMD-135140 MC-135140N/T rocessing the different depth of the hole.
06238 | VMD-140145 MC-140145N/T IT15 processing P . . ; :
06240 | VMD-145150 PLS-2556 MC-145150N/T 5 Drill with center water hole can cool insert better,extend insert life and accelerate chip
506242 | VMD-150155 TiN-H MC-150155N/T i
506244 | VMD-155160 sojgo| 116|176 YMC-155160N/T 53] evacuation. o X o .
506246 | VMD-160165 MC-160165N/T | WCMT080408 | TSB-40110) 4688 6 Using indexable carbide insert cutting with high speed and feed,surface finish has greatly
506248 | VMD-165170 MC-165170N/T 56251 {1 oroved
506250 | VMD-170175 MC-170175N/T 65 .
506252 | VMD-175180 MC-175180N/T 125
Connecting rod
.». . .
. Jet drill series
Order D D1 | D2 L L1 M Applicatior] price
506300 DX2-3016100 30 16 32 100 75 M10X1 188
506302 DX2-3013150 30 16 32 150 75 M10X1 188
506304 DX2-3016200 30 16 32 200 75 M10X1 45--055 500
506306 DX2-3016250 30 16 32 250 75 M10X1 LR 800
506308 DX2-3016300 30 16 32 300 75 M10X1 3100
506310 DX2-3016400 30 16 32 400 75 M10X1 3400
506312 DX2-4525100 45 25 40 100 75 M10X1 2500
506314 DX2-4525150 45 25 40 150 75 M10X1 2500
506316 DX2-4525200 45 25 40 200 75 M10X1 60--080 | 2813
506318 DX2-4525250 45 25 40 250 75 M10X1 @60--¢ 3125
506320 DX2-4525300 45 25 40 300 75 M10X1 3438
506322 DX2-4525400 45 25 40 400 75 M10X1 3750
506324 DX2-5030100 50 30 40 100 75 M12X1 3125
506326 DX2-5030150 50 30 40 150 75 M12X1 3125
506328 DX2-5030200 50 30 40 200 75 M12X1 85--095 | 3438 f : : f
506330 DX275030350 %0 30 40 550 | 75 M12X1 ¢85-- 3750 1.Coolant oil fluid supoly is fed through an oil pressure head between the
506332 DX2-5030300 50 30 40 300 75 M12X1 3750 . .
506334 DX2-5030400 50 30 40 200 | 75 M12X1 3950 outside of the drill tube and the hole wall.
506336 DX2-5832100 58 32 40 100 75 M12X1 3750
506338 DX2-5832150 58 32 40 150 5 M12x1 3750 2.A seai between theworkpiece and the drill bush is necessary.
506340 DX2-5832200 58 32 40 200 5 M12X1 ©100--¢110 | 406
506342 DX2-5832250 58 32 40 250 5 M12X1 4375 ; i : i
06344 CoYeroa m 3 m 500 s M2 4500 3.Double the coolant pressure and quantity are required than with the Ejector system.
506346 DX2-5832400 58 32 40 400 5 M12X1 4900 . . . . .
506348 DX2-7040100 0 40 50 100 80 M12X1 5000 4.Preferably used for materials with long chip formation,such as stainless steel,low
506350 DX2-7040150 0 40 50 150 80 M12X1 5000
506352 DX2-7040200 0 40 50 200 | 80 M12X1 @115--135 | 5625 carbon steel and materials with an uneven structure.
506354 DX2-7040250 0 40 50 250 80 M12X1 5625
506356 DX2-7040300 0 40 50 300 80 M12X1 6250 : f f
eaae ARV o w0 " o0 T a0 M1oX1 o0 5.Single thbe system is more advantageous for extremely long workpieces and for
506360 DX2-8050100 80 50 50 100 80 M12X1 6250 . .
506362 DX2-8050150 80 50 50 150 80 M12X1 6250 workpieces with large holes.
506364 DX2-8050200 80 50 50 200 80 M12X1 140--0195 | 6875
506366 DX2-8050250 80 50 50 250 80 M12X1 @ ® 500 Inletfor Drill tube
Soao0] xs-nanane T a0 T sa T a0 T 00 T ho 1w Sazs Chock  Workplece - Steady et Seal cying fuig  support  Coolantseal - Chip box
Centering drill
’ 2 ' Order Type D L Price
Y - "& 4 506400 PLD-V1035 TIN-H 10 35 769
. 506402 PLD-V1238 TIN-H 12 38 988
i 506404 PLD-V1645 TIN-H 16 45 1125
— 506406 PLD-2045 TIN-H 20 1625
oL [SN== 506408]  PLD-2556 TIN-H 25 56 2100
b 5 g }
L 506410, PLD-3068 TIN-H 30 68 2800 Drill head Drill bushing Pressure head  Drill tube Drill slide

WEB:http://www.mzg.tw K12


http://www.mzg.tw

	1: K03
	2: K04
	3: K05
	4: K06
	5: K07
	6: K08
	7: K09
	8: K10
	9: K11
	10: K12

